/
F’FAMELESS GLASS RAILINGS
j g

fﬂgjp LGAD iAbP‘ Aé"ﬂ :Es. StaricStupio GAIMIN sl =0 =< RISE

=T

s




AL PROFILE
SYSTEMS

GLASS
ADAPTERS

3 SPIGOTS

1 | [ : -:r 1 3 ¥y :._..u;'l-"r'rr{"‘r-h ..--‘- _'il i B -. :._L- o Py N I-
RN . L o el s Ty # R -PI'E!J:P _.":'-\._-l'"i F s e Ta Lo  r - 5 i A
R R s AN e T el gt LS
e Ny (N iy, .-_,._- __'_.| ] ‘_'{l.-.__hl..--_.a_ et
1 Oul il g AT
- r

GLASS CONNECTORS

HANDRAIL HOLDERS
FOR GLASS




CAP RAILS

7 JULIET BALCONY

“. .1...4 -
__.,. G St
§ .w1

LED
HANDRAILS

8 ACCESSORIES




1 AL PROFILE
SYSTEMS




U PROFILES AL/0004

TOP MOUNT AL/0004-ECO

FIX AL/NX50-SEG
AL/CL40-SEG
AL/0008

FLEX AL/0004-LIGHT
AL/0004-UnoXL

FIX, FLEX AL/0004-PRO
AL/0019

L PROFILES AL/0006

TOP MOUNT AL/0006-ECO

FIX

FIX, FLEX AL/0006-UNO
AL/0018

U PROFILES AL/0005-D

SIDE MOUNT AL/0009

FIX

FLEX AL/0005-UNO

Y PROFILES AL/0011

SIDE MOUNT

FIX

FIX, FLEX AL/0011-ProXL
AL/ZALVR...004

GLASS AL/ZALVR...006

SETS

AL/ZALBR...005
AL/ZALBR...O11



A19/5042-...

A14/0772-...

A14/077 3-...

A/89...
A14/89..
AL/E69...

i

VSG/ESG
G5/ ...

AL/0004...
AL/000S8...

AL/..-Drain

AL/OO3...
A19/0004-...

AL/0004...
AL/QQO8...

A19/0004-D...

A/0156-.. .

A/42,4x2-.. _
Y ]
A14/2500-900 ol '
— A/O505-..
' ' - ' AL/6505-..

VSG/ESG

GS/... AL/000S5...

AL/0009...
=1
1
’:
Q5/08... 4
gi
A
= AL/..-Drain

-
- - | : - N AL/0O3...
() @ @ \\ A19/0004-...
AL/0044-..
\ AL/000S... A19/0004-D...

AL/..-OUT  AL/0009...



Material Finish Effect art. L G/h glass t kg/m ‘:LE:* Jm 1
AL/0004-1250-5-E 1250
~ AL/0O004-2500-5-E 2500 %
SIVET AL/0004-5000-5-E 5000 |
. T 1kN 12-21,52 -y O v 5
oy AL/0004-2500-S-VA-EXCLUSIVE 2500 g‘:l_
AL/0004-5000-S-VA-EXCLUSIVE 5000 7]
AL/0004-ECO-2500-5-E 2500 L
iy AL/O004-ECO-5000-5-E 5000 ic
'0004-ECO-6000-5-E
AL/ 6000 1kN 12-21,52 48 - v E
natural ALfﬂﬂﬂd-EEﬂ-Eﬂﬂﬂ-H - EEEERRN o
ot AL/O004-ECO-2500-5-EB 2500 i
AL/0004-ECO-5000-5-EB 5000 <
AL/NX50-SEG150-5-E 150 oy 16.76-17520 B ., P
AL/NX50-SEG300-S-E 300 2o dlof BN T T
AL/CL40-SEG150-5-E 150 oy 12761352 W s . .
AL/CL40-SEG300-S-E 300 temaired R R )
AL/0004-LIGHT-2500-S-E 2500 1917 50
- 0,5 ;
—n e — KN EEEN 41 ¥ - new
AL/0004-LIGHT-5000-5-E 5000
AL/0004-UnoXL-2500-S-E 2500
. 1kN 16.7/6-21.52 10 0 0 56 o
SET AL/0004-UnoXL-5000-5-E 5000 heu
AL/0004-PRO-2500-S-E 2500
- OkN 12-17.5.Emmm v AW
RO-5000-5-E -
AL/0004-F 008 20762152 mmm 62 - 4
AL/0004-PRO-8000-S-E 6000
AL/0008-2500-S-E 2500 e 21'52_3575% — .
AL/0008-5000-5-E 5000
AL/0019-2500-5-E 2500 16,76-21.5. H N NN v
g ALjoBiEE = = 3kN 24763152 mmm 10 - v hew
* 3kN - info according to the test protocol 03/23
Material Finicsh Effect art. L G/h glas= t kg/m ”:l? FTx
AL/0006-1250-S-E 1290
i AL/0006-2500-5-E 2500 _ 12-21,52 . ¢ |2ap
AL/0006-5000-S-E 5000 EEEEERN 2
siver AL/OO06-6000-SE =~ _ Bu0o
AL/O006-ECO-2500-S-E 2500
AL/O006-ECO-5000-S-E 5000
AL/0006-ECO-6000-5-E 6000 _ 12-21,52 cq ’
e AL/0006-ECO-2500-S-EB 2500 EEEEEN ' g
%% AL/OD0B-ECO-5000-S-EB 5000
siver AL/OO0E-ECO-6000-N 6000
AL/0006-UNO-2500-S-E 2500 ” 19.17.52 ’ .
AL/0006-UNO-5000-S-E 5000 mEEE _
silver - | '
AL/0018-2500-S-E 2500
akN 16, 76-21,5:H N EE 122 v v’ MEW
AL/0018-5000-5-E 5000 24/6-31ozmmm =
Matenal Finich Effect art. L G/h glazs t kg/m “';I;" FTx
AL/0005-UNO-2500-5-E 2500 i 12-17,52 <5 P
AL/0005-UNO-5000-S-E 5000 EEEE ’ )
siver AL/0005-D-1250-S-E 1250
AL/0005-D-2500-S-E 2500
M@Hw .EDDQ 1kN 12-21,52 63 - v
AL/0005-D-6000-S-E 6000 EEEEEN ;
Liaci AL/0005-D-2500-S-EB 2500
AL/0005-D-5000-S-EB 5000
AL/0009-2500-5-E 2500
shver (218 ooy N 21,5225.52 86 : v
Matenal Finich Effect art. L G/h glazs ka/m ‘:LT;. FT.'I'.
AL/0011-1250-N-E 1250
e AL/0011-2500-N-E 2500
AL/0011-5000-N-E 5000 _ 12-21,52 g y
AL/0011-6000-N-E 6000 EEEEEHN -
i AL/0011-2500-N-EB 2500
AL/0011-5000-N-EB 2000
AL/0011-ProXL-2500-N-E 2500
siver S B . _ oky 16762152 mEEEE 85 v v new
AL/0011-ProXL-5000-N-E 5000 cetia L b ]




| o[elo S FIX series

AbP

il .ﬁ.;rn T
TR =T

777777 ZZZZA

S PP TTT T

10x @4

AL/C004- 5-E-Drain

120,5

%/f;’;’fff TR

Féffﬁfﬁfﬁf;x;m

e
n

AL/ODO4-. 5E
AL/CO04-. 5-VA.

- L
D14
SN RSN NNSAS SN NNSSSNSSNNS N
L] 200 hi
L.
AL/D004-5-E-Drain
v
12,00-21,52
bwilt in drain
v

STATIC STUDIO RlSE @ ey

AL/0004-1250-5-E 1250
AL/0004-2500-5-E 2000 20
silver AL/0004-3000-5-E 5000
ANODIZED . AL/0004-6000-S-E 6000
ANODIZED .. _ 100 1kN
ALUMINIUM AL/0004-5000-5-E-Drain =000
" black AL/0004-5000-5-EB-Drain
i AL/0004-2500-5-VA-EXCLUSI 2500 20
AL/00D04-5000-5-VA-EXCLUSI 5000 100
...ANGLE
[ siver  AL/0024-004-5-E
- B EE 4 Tt INOX
mﬂlﬂﬂlzﬂmm satin AL/0034-004-5-VA-EX

siiver  AL/0034-004-S-E-ANGLE fo.&W/

— g

new

=

for glasst (12-21,62)
for clope angle (= 45%)

PETG gray A19/glass-stop

e siver AL/O004-5-E-90-IN
ALUMINIUM INOX  AL/0004-S-VA-EX-90-IN
412

200

m ﬁilhn silver AL/O004-S-E-Drain

AL/0004-1250. ..
AL/0004-2500. ..
AL/0004-5000. ..
AL/0004-8000. .

13
1%

silver
INOX

AL/0004-5-E-90-0UT
AL/0004-5-VA-EX-90-0OUT

\ﬁr ﬂ‘jﬂ

AL/0004-...Drain




| o[ejo” S F|X series

95 A19,/0004-012-02.5 E?
12 5 A19/0004-012-05.0
25 A19/0004-012-25.0 M FIX-SET
25 A19/0004-013-02.5
1_2'?6 5 A19/0004-013-05.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5
16.76
: 5 A19/0004-017-05.0
/ A19/0004-rubber...
25 A19/0004-017-25.0 (black)
25 A19/0004-018-02.5 A19/0004-F-G... _ _—
brod 5 A19/0004-018-05.0 k)
25 A19/0004-018-25.0
|
e 25 A19/0004-021-02.5
- 5 A19/0004-021-05.0 A19/0004-plast 12
.12.76
25 A19/0004-021-25.0 .16.76
.17.52
b o 25 A19/0004-022-02.5 A19/0004-L-ECO pHhg
' 5 A19/0004-022-05.0 (4pcs/m) - . 3152
25 A19/0004-022-25.0 (4pcs,/m)
PYC-P - interiar EFPDM - sdaniar PVYC-P - intarier EPDM - extaniar
A19/0004-F-G-02.5 25 | A19/0004-17-18-G-02.5 25
gray, A19/0004-F-G-05.0 5 22y A19/0004-17-18-G-05.0 5 16.76-17,52
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25
Rubber A19/0004-F-B-02.5 25 {921 52 A19/0004-rubber12-13-02.5 05
A19/0004-F-B-05.0 5 A19/0004-rubber12-13-05.0 5
bla:_:k o = : 12.76-13 .52
lexterier) A 19/0004-F-B-06.0 6 A19/0004-rubber12-13-06.0 B ] !
A19/0004-F-B-25.0 25 A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 5
g 16, 76-17.52
exterier)  A4Q/0004-rubber17-18-06.0 6 ' -
A19/0004-rubber17-18-25.0 25
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 8 20.76-21,52
| A19/0004-rubber21-22-25.0 25
——
Quality |
Rubber black A19/0004-D-B-100 100 12-21,52
=
G + —
o
S =
s | =
=L
ANCHORs JlIL- E=
- - " Y -
— 1 N, 1] -3 I =
) : ‘ 121 ‘ 121
g CHEMICAL Spcs/m 1pcs/2,5m
T
2
MECHANICAL Spes/m
> | hew new
4 TR .
I AERLES natural Q10/ANGLE-0-2-60 natural Q10/60-M16/M10

9



sleler:Beiel FIX series

glass f
L

@20
e .V | | Y . . ™ 1 L % e L
1
| | @15.5
- 2 . E1 [ 200 _
)
ALO0I4-ECO-Dran
AL/0004-ECO-2500-S-E 2500 50
silver AL/O004-ECO-5000-S-E 5000 o0
ANODIZED  satin AL/0004-ECO-6000-5-E 6000
nmmﬁfgl | 1kN  12.00-21,52 v
LUMINIUN AL/0004-ECO-2500-5-EB 5500 50
black AW
AL/0004-ECO-5000-5-EB 5000 00
silver AL/0004-ECO-6000-N 6000

T H=
W

e
A-DIN 1474-5x25 .
|..““"“is B — n * d:
ekl
..ANGLE \*_
== A14,/0005-pin .
L silver AL/D034-004-ECO-S-E AW
e ‘“Eﬂmmm satin = black AL/0034-004-ECO-S-EB | (CETYE . ADIN14745x25 .
[ siver  AL/0034-004-ECO-S-E-ANGLE IA&A4Y/ AlSizic [E A14/0005-pin m natural Q10/60-M16/M10

ANODIZED siver  AL/O004-ECO-S-E-90-IN ANODIZED . | siver AL/O004-ECO-S-E-90-OUT

ALUMINIUM black  AL/O004-ECO-5-EB-90-IN ALUMINIUM == oAl /0004-ECO-S-EB-90-OUT

335 200

1
25,5 -
g

1
ol
+____

L1
[ E—
T
e
]
€:+_1

! [ 3 |16 .""ll
o =67 \/
6 sls
1%
. - AL/ODO4A-ECO- . -5-E AL/0004-ECO-. .
satin A/0004-ECO-Drain AL/0004-ECO-. -S-FB 75 AL/0Q04-ECO-Drain

10



slejer:B ool F|IX series

25 A19/0004-012-02.5 %
12 5 A19/0004-012-05.0
o5, A19/0004-012-25.0 [LI] FIX-SET
2.5 A19/0004-013-02.5
12_'?*3_ 5 A19/0004-013-05.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5
15_'?5 5 A19/0004-017-05.0
05 A19/0004-017-25.0
25 A19/0004-018-02.5 A19/0004-rubber F-... __— - A19/0004-rubber...
(black) black
17,22 5 A19/0004-018-05.0 fhiack)
25 A19/0004-018-25.0
20.76 25 A19/0004-021-02.5
5 A19/0004-021-05.0 \
25, A19/0004-021-25.0
25 A-lgfwzz_nz's ﬂ.'tg'fﬂﬂﬂq-L'ECD Jﬂ|1ga’.ﬂﬂﬂ4'p|:|=t...
(4pcs,/m) S (4 m)
1,52 5 A19/0004-022-05.0 Res/ P/
05 A19/0004-022-25.0
PVIC-P - interiar EPDOM - axtariar PVC-P - interiar
EPDM - axtariar
A19/0004-F-G-02.5 25 A19/0004-17-18-G-02.5 25
;.Eﬁii . A19/0004-F-G-05.0 5 iinﬁgﬂ A19/0004-17-18-G-05.0 5 16.76-17 .52
| A19/0004-F-G-25.0 25 | A19/0004-17-18-G-25.0 25
Rubber A19/0004-F-B-02.5 25 19.29 52 A19/0004-rubber12-13-02.5 25
black A19/0004-F-B-05.0 5 A19/0004-rubber12-13-05.0 5
o 12.76-13.52
(ext=rier) A4Q/0004-F-B-06.0 5 A19/0004-rubberi12-13-06.0 6 i -
A19/0004-F-B-25.0 25 A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 5 —_—_
\ Q (ext=rizr) A 19/0004-rubber17-18-06.0 6 Sensii
A !
- A19/0004-rubber17-18-25.0 o5
A19/0004-rubber21-22-02.5 2,5
A19/0004-rubber21-22-05.0 5
20,76-21.52
' A19/0004-rubber21-22-06.0 8
AL/glass-mont-PRO FLEX/FIX Ae |%
|
'Rubber black A19/0004-D-B-100 100 12-21 52

= = |
i Il e lEl
|||»E|56-5?

Spcs Spcs  opcs 1pcs
/m Jm /m /2 5m

o
(9]
i
4
Q
Q
o
2
=

CHEMICAL

ANCHORS

MEGHI!AHIGALE Spes/m Spes/m Spes/m

6 N - = for glass t (12-21,52)
=" . PETG gray A19/glasz-=top a4 for slope angle (< 45°)

11



slelol:=NleizIlM FLEX series

i

o
i
i *;EJQB___
D14 XD
- L1 I 200
b 8
ASD004IGHT-Orain
AL/0004-LIGHT-2500-5-E 2500 50
m =atin silver 0,5kN 12 00-17,52  built in drain v +11° |[PMNEW
|5 AL/0004-LIGHT-5000-5-E 5000 100
-— =
_— 1]} —
* 121
et A%
AETELEE natural Q10/ANGLE-0-3-60
A-DIN 1474-5x25 -
25 i = s
i | ] —_—
—— * 121
...ANGLE A14/0005-pin 5%
ANODIZED : . AL/0034-004-LIGHT-S-E AlSi304 A-DIN 1474-5x25 e/
m”" - i AL/0034-004-LIGHT-S-E-ANG il AlSI316 A14/0005-pin G natural @10/60-M16/M10

U

=

B e —— f
23 ||

4
=

MEW
mﬂ =atin silver AL/0004-LIGHT-S-E-90-IN-OUT w PETG Cray MP/excenter-mount
287
35 200 .
| F T B FLF 3§ |
5| u | Lil | L'i '
‘!‘H@ “u i i 2
| | 5 A
14
4 =47 | ol
&
= €3
F %
, AL/00D04-LIGHT-.__S-E
VCEGENN =afin | A/0004-LIGHT-Drain AL/OD04-LIGHT-... 2.5 AL/0004-LIGHT-Drain

12



olele=Nlei- il FLEX series

.= B,

| e S . %1,1°
19 2.9 A19/FLEX1-012-5ET-02.5 q—?m

2 A19/FLEX1-012-SET-05.0 Iul FLEX-SET
12 76 25 A19/FLEX1-013-SET-02.5
' 5 A19/FLEX1-013-SET-05.0
16.76 23 A19/FLEX1-017-SET-02.5
Lo 2 A19/FLEX1-017-SET-05.0
black
1750 25 A19/FLEX1-018-SET-02.5 falaci) _
2 A19/FLEX1-018-SET-05.0 e '
ki O —— ﬁﬁ (DIACK)
{‘_31“;% %1 —

ﬂ A19/FLEX1...

I Q8,/70-275-PRO 275mm 1/47

Rubber black A19/0004-D-B-100 100 12-21,52

AL/glass-mont-PRO

' ' for glass t (12-21.62)
AL/glass-mont-PRO FLEX/FIX MEW PETG gray A19/glass-stop for slope angle (< 45°)

~ -

E — —

o Ll

o

i .

2 88 AncHoRrs TS EI 56-57

7p]

g CHEMICAL Spcs/m Spcs/m Spcs/m 1pcs/2.5m
E — | |

E MECHANICAL Spcs/m Spcs/m Spcs/m

13



ALUMINIUNM  Satin

ALUMINIUM =347

14

slofolmN[ci Il CONNECTION PROFILES - TOP MOUNT

| [
&
(' |
(|
20.2
o &
AL/0051-2500-5-E 2500
silver
AL/0051-5000-5-E 5000
a
AL/0052-2500-5-E 2500
silver
AL/0052-5000-5-E 5000

V4

y 4




ololoiZRici Il CONNECTION PROFILES - TOP MOUNT

]
. .
| o
1<
e AL/0053-2500-N-E 2500
ALUMININ  Patur o silver .
' AL/0053-5000-N-E 5000
o
|

10,2

o il
152 £
2 [ ]
i
| I
_IrJrJ
e |
] |
| 2]
| ANcoED AL/0054-2500-5-E 2500 | - o
| ﬁﬁm“ satin = silver W L *
 ALUMINIUR AL/0054-5000-5-E 5000 \ 2 s
% \ -d.' lﬂ-I- -

15



slolol: BT )(M FLEX series _

B L
N
N ®30
15,5 6xP b
™ 1 e I L | |
B W Wt | |HH1HRKHHHHHR\H"H“NHRR‘4Il‘-..""-..
= 100 2l 200 =
!H 63 : T
- i A/0004-UncXL-Drsin
N AL/0004-UnoXL-2500-5-E 2500 50
Aot =atin  siver 1kN 16,76-21,52  built in drain v s11° e
AL/0004-UnoXL-5000-S-E 5000 100

- - =
-~ ! e |=
121
i AEM/
CACIRLYS natural Q10/ANGLE-0-3-60
A-DIN 1474-5x25
HES e = |||‘ —
121
...ANGLE A14,/0005-pin 2
- eW
; : AL/0034-004-UnoXL-SE _ AlSI304 : A-DIN 1474-5x25 ;
e i | s : e : —
ALUMINIUM AL/0034-004-UnoXL-S-E-ANGLE @i/ AlSI316 ~ A14/0005-pin GEEUL natural Q10/60-M16/M10
) v
‘ﬁ__ . l
Mew u
m SHE'I'I silver AL/0004-UnoXL-S-E-90-IN-OUT ‘,.w PETG gray MP/axcenter-mount
247
33,5 200

3]

Ll &

AL/0004-UnoXL-.. . S-E

LCTRGESE =atin | A/0004-UnoXL-Drain AL/0004-UnoXL-.. 2.5 A/0004-UnoXL-Drain

E

16



[SLLYEVPS W FLEX series

=11

.e-"'T"“-s;

1676 25 A19/FLEX2-017-SET-02.5 5
5 A1S/FLEX2-017-SET-05.0
17.52 25 A19/FLEX2-018-SET-02.5
5 A19/FLEX2-018-SET-035.0
20.78 2.5 A19/FLEX2-021-SET-02.5
. 5 A19/FLEX2-021-SET-05.0
21,52 2.5 A19/FLEX2-022-SET-02.5
! 5 A19/FLEX2-022-SET-05.0

&

i s ' (DIack)
ey (| . =
J‘ A19/FLEX2...
' Q8/70-2735-PRO 275mm 1/4"
Rubber black A19/0004-D-B-100 100 12-21 52
|
-
AlL/glass-mont-PRO
MMEW
- . for glass t (12-21,52)
AL/glazs-mont-PRO FLEX/FIX MMEW PETG gray A19/glasz-stop for clope angle (< 45%)
J T T
E & e
3 e e + ‘
o
o [ =
o
i —| 56-57
L=
w
E CHEMICAL Spcs/m Spcs/m Spcs/m 1pcs/2,5m
I —
9
E MECHANICAL Spes/m Spcs/m Spcs/m

17



eleloliM=I=~lol F| EX/FIX series

[ErACF S ha
R PN T

2
glass 1 oz L
1
B Q T
~ : : 28
ulng (=
L} {: S A T "™, " ™ SR | [ J & & & 9
'|TN § BN T O BN Y l
, SRS SSITINSSNNY
GLASS |60 LI 200
S ~
ASD004-PRO-Dirain
AL/0004-PRO-23500-5-E 2500 20
ANODizED Satin  silver SN
ALUMINIUM AL/0004-PRO-5000-5-E 2000 i 12,00-21,52  built in drain v +1.1° | el
: 100
silver AL/0004-PRO-8000-5-E 6000

* 3kN - info according to the test protocol 03/23

- I i
] =]
-
(At d
natural Q10/ANGLE-0-3-60

E’_ WS

A-DIN 1474-5x25

h

25

BNz
A14/0005-pin \""«

\

.ANGLE

| . 5 - ‘s‘ 45:&{'
AHHDEED : AL/0034-004-PRO-S-E | AISI304 . A-DIN 1474-5x25 .
ALUMINIUM =3RS /0034-004-PRO-S-E-ANGLE e ISl " A14/0005-pin - mﬂﬂﬂﬂi b oo b b

Ui

MeW DED
Uiy Satin | siver  AL/0004-PRO-S-E-90-IN-OUT A&l PETG  gray  MP/excenter-mount
247 o '
335 200 , &
| - - | %%ﬁ H & &)
[+ % 1 1 i 1 {:
E L __l__ _l_| J__I_ LJJ E L ﬁ G 'ﬂ' 'ﬁ
i L L b
14 e L & O o & &
T ] &

6 @ & & i
=0 N I
€3 =
- ' +1%
. . Al /0004-PRO-.._5-E
iR satink A/0004-PRO-Drain  AL/0004-PRO-. -5-E 20 A/0004-PRO-Drain

18



eleloliM==ol F|_ EX/FIX series

. ; =¥ “-_T%“"' — i.!,.!ﬂ
o 25 A19/FLEX-012-SET-02.5 K'T\\
| 5 A19/FLEX-012-SET-05.0 L[| Focser L] Fexser
1276 25 A19/FLEX-013-SET-02.5
' 5 A19/FLEX-013-SET-05.0
1676 25 A19/FLEX-017-SET-02.5
5 A19/FLEX-017-SET-05.0
— A19/FLEX-018-SET-02.5 e i
5 A19/FLEX-018-SET-05.0

20,76 25 A19/FIX1-21-SET-02.5
5 A19/FIX1-21-SET-05.0

.

21.52 2.0 A19/FIX1-22-5ET-02.5

LHEICH) (DIACK)

5 A19/FIX1-22-5ET-05.0

A19/FIX... A19/FLEX1...

Q8/70-275-PRO 275mm 1/47

. black A19/0004-D-B-100 100 12-21,52

S
AL/glazsz-mont-PRO

AEW
e : : for glasst (12-21,52)
AL /glass-mont-PRO FLEX/FIX MEW PETG gray A19/glass-stop for zlope angle (= 45%)
0 - =
: +
< = =
8 i)
o
il | e
. Bl AncHors S E| 56-57
7p]
g CHEMICAL Spcs/m Spcs/m Spcs/m 1pcs/2.5m
I |
o
E MECHANICAL Spcs/m Spcs/m Spcs/m

19



INEES=Zel FIX series

125

Z
)

AL/NXS0-SEG150-5-E 130 16.76-17 .52
uma satin - silver kM S Jhd ok
' AL/NXS0-SEG300-5-E 300 At

S R silver  AL/NX50-CAP-S-E AEW

ouT IN ]J u ouT ] IN

ouT IN

SNZENS

=]
SNBSNS
>

ANODIZED AL/NX51-IN-2000-5-E AL/NX52-IN-2000-5-E

ALUMINIUM AL/NX51-0UT-2000-5-E

Mnew

silver

AL/NX52-0UT-2000-5-E

20



'_ Weloks=el FIX series

PETG gray A19/glass-ctop TAEW

T
" o

AL/glass-meont-PRO =

FLEX/FIX

1

M FIX-SET

AT9/FIX-NX.]]

AL/glazs-mont-PRO AU/
Rubber black A19/0004-D-B-100 100 12.21 52

Al /MXS0-SEG300-5-E

Metarial List

1- Glass support base shoe
2- Spacer

3- Plastic wedge

|

.

b
1y
7]
o
Ty
>
<
j
<

=
3
2

Ay

g CHEMICAL

=

O

E MECHANICAL Spcs/m

Spes/m opcs,/m

-
= + l
56-57
opcs/m opcs,/m 1pcs/2,5m

21



satin

ouT

22

| [ERLESTeY FiX series

Effac b | | L
AL/CL40-SEG150-S-E 150
silver
AL/CL40-SEG300-5-E 300
MeEW

IN

()

kN

oo
|
a0
1
[ v T
¥ L
A 4
i o b,

12,76-13,52
16,76-17 .52

A19/CL40-1213

A19/CLA0-16817 AW

ouT

IM




oo nsizel FIX series

=~

PETG gray A19/glazs-stop A

A19/FIX-CL...

3

:l!“.__

¥ —

AL/glaz=-mont-PRO

AL/glass-mont-PRO FLEX/FIX MEW

'Rubber black A19/0004-D-B-100 100  12-21,52

AL/CL40-5EG150-5-E AL/CLA0-SEGI0N-5-E

CLAO-F190K

Metarial List

|- Glass support base shoe
2- Spacer

3- Pressing stick

4- Mé Set screw

CLAD-F190K

CLA0-9189/30 CL4D-9190
™ CL4D-9189

. - - | - =
7|

w0 = Sy + l
o :

Ly !

> -
pd

g —| 56-57

CHEMICAL Spcs/m Spcs/m Spcs/m 1pcs/2.5m

ANCHORS |

MECHANICAL Spcs/m Spes/m Spcs/m

23



FIX series

.
ot — LR
. g =
! o
I el el

[ﬁ?wﬁbﬁ:i i

silver

2500
=000

silver

silver

.

PISTIIIITZ A

128

&0

]

STATIC STUDIO

N \\\%\\\\\\\\\\\\\\\\\\\

L]

200

-_I

1

-

1

[

=0
100

_—

sifver

AL/0D08-S T—



FIX series

05 A19/0004-012-02.5
21,52 5 A19/0004-012-05.0
25 A19/0004-012-25.0
25 A19/0008-025-02.5
58 5 A19/0008-025-05.0
A19/0004-rubber F-.. - . A19/0004-rubber...
A19/0004-L-ECO A19/0004-plast...
(4pcs/m) A19/0008-plazt...
o T (4pcs/m)
PWC-P - interisr EFDM - extariar PVC-F - inferiar EPDM - sxtansr
[ A19/0004-F-G-02.5 25 1 A19/0004-17-18-G-02.5 25
2y A19/0004-F-G-05.0 5 13y, A19/0004-17-18-G-05.0 5  16.76-17.52
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25
Rubber A19/0004-F-B-02.5 25 12.21 592 A19/0004-rubberi2-13-02.5 25
black A19/0004-F-B-05.0 5 A19/0004-rubber12-13-05.0 5 5 7643 5
(exterier) A19/0004-F-B-06.0 g A19/0004-rubber12-13-06.0 6 g
[ A19/0004-F-B-25.0 25 A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 5
[exterier] p 16,76-17 .52
A19/0004-rubber17-18-06.0 6
A19/0004-rubber17-18-25.0 25
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 g nieehae
| A19/0004-rubber21-22-25.0 o5
Rubber black A19/0004-D-B-100 100 12-21,52

" A
AR ANCHORS JIT= 3 rf 56-57
(¥s]
S
E CHEMICAL Spcs/m 1pcs/2.5m
-
L=

25



- FIX series AhP LGAP

tested! STATIC STUDIO ;

RS A LT
L =T

45
| glass t 1
I. =
T
I N
™ N,
5 i
' ™
&l N at
5 :: N .
= 14
N\ - |
1 S ENS J OO IR TIRY
Ple  #E2l B R 200 |
it 95 -
S
ASDO0E-Dirsin
AL/0006-1250-S-E 1250
T | AL/O006-2500-S-E 2500 50
sLomuy. S3tin | siver 3kN  12,00-21,52 Ve g
AL/O006-5000-S-E 5000 100
AL/O006-6000-S-E 6000

Alwmom S3tin | siver  AL/OOOE-S-E-9O-N Alim S3hn  sier  AL/0OOG-S-E90IN

e S R Wl

4 =67

e

IRl ILIL e
L)

1%

AERESE natural A/0006-Drain AL/0006-.. -S-E 05

ASO006-Drain

26



|'Iil@@EL slolo[>3 FIX series

AL/0034-006. .

AL/0035-006. .

[
Wlaterial Finish Effect art

Quaklty Finish art.
PVC black A24/0006-003
! al.7
=
M
e
0s @
|1
Matarial Finizh Effect art L
AL/0026-2500-5-E 2500
siiver AL/0026-5000-5-E 5000
AL/0026-6000-S-E &000

AL/0034-006-K. .

AL/0D35-006-K._..

A24,/0006-003

AZ24,/0006-003




| ololols3 FIX series

25 A19/0004-012-02.5 [
e 5 A19/0004-012-05.0
25 A19/0004-012-25.0 U FIX-SET
2.5 A19/0004-013-02.5
12.76 5 A19/0004-013-05.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5
16.76 5 A19/0004-017-05.0 ‘
25 A19/0004-017-25.0
A19/0004-rubber F-.. __— ——_ A19/0004-rubber...
25 A19/0004-018-02.5 (black) (black)
17,52 5 A19/0004-018-05.0
25 A19/0004-018-25.0
05 A19/0004-021-02.5 \
20.76
5 A19/0004-021-05.0 A19/0004-plast...
L (4pcs/m)
25 A19/0004-021-25.0 (4pcs/m) L=
05 A19/0004-022-02.5
o 5 A19/0004-022-05.0
25 A19/0004-022-25.0
PVC-P - interiar EPDM - sxtensr PWVC-P - intarisr EPDM - gxteriar
1 A19/0004-F-G-02.5 25 ' 1 A19/0004-17-18-G-02.5 25
dray. A19/0004-F-G-05.0 5 g2y A19/0004-17-18-G-05.0 5  16.76-17.52
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 o5
Rubber A19/0004-F-B-02.5 o5 10.21 52 A19/0004-rubber12-13-02.5 9.5
A19/0004-F-B-05.0 5 A19/0004-rubber12-13-05.0 5
black 12 76-13.52
lexterier) A 19 /0004-F-B-06.0 B A19/0004-rubber12-13-06.0 6 : ;
A19/0004-F-B-25.0 25 A19/0004-rubber12-13-25.0 o5
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 5
lexterer) 419 /0004-rubber17-18-06.0 g le.fe-17.52
A19/0004-rubber17-18-25.0 o5
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 g  <20.76-2152
A19/0004-rubber21-22-25.0 o5

28



LN FiX series

4k

w0
o
o
o
3
<
AL/0026-
(73]
o
o
= CHEMICAL /
>
-
©
- !
S |
S ¢
N
< .—4
w
= CHEMICAL
i
0
]  MECHANICAL S
i}
Rubber black A19/0004-D-B-100 100

A24,/0006-003

2pes/m

opcs/m

12-21,52

IANoZlel=8] 1m) |—=| 56-57

spcs/m Spes/m 1pcs/m

=

I EI 56-57

Spes/m 1pcs/m

S

!

s

1pcs/2,.5m

- B

1pcs/2.5m

29



FI}( series AhP LGAR _

(] ﬂ“‘.‘l‘i'l' tE S tE d
[="ad- _tEoy g
%
- i | glass t
- L
|
= |
& b )
~| o K1 .
- = .., ©20.2
k‘- 1[ b 5 N | | I L Y k" - e . a WSO V. " " . T I "N N | L b '\.""I.
1[ tm S | | . ™ R . " ™ ., ", . " ™ ", | I"'\-u."ﬁ"ﬁ.'!li
! » 77 il i i, ?155
) 102 _ L 200 J
X}
A/00DE-ECO-Drain
AL/0006-ECO-2500-5-E 2500 20
silver AL/O006-ECO-5000-5-E 5000
100
MIEJ satin AL/0006-ECO-6000-5-E 6000 Y/
ALUMINIUM TkM 12,00-21,52
Sl AL/0006-ECO-2500-5-EB 2500 20
black
AL/0006-ECO-5000-5-EB 5000
100
silver AL/Q006-ECO-8000-N &000
™
25
gm
"‘..*
A14/0005-pin A-DIN 1474-5x25
AlSI304 A-DIN 1474-5x25 |
satin - “PEW
AlSI316 ' A14/0005-pin |
ANODIZED .  Siver AL/OOOE-ECO-S-E-90-N ANCDIZED siver AL/O006-ECO-S-E-90-OUT
ALumiNiom 53D ALUMINIUM  Satin |
L black AL/O0QQ6&-ECO-5-EB-S90-IN ' black AL/0Q006-ECO-S-EB-90-OUT
267 = &
335 200 _ &
Brnmnianis .
]

o HE i HE i &
al ™ i i J- i (] &
TR htf.**:;!@ A 5

A r ' i | \L / O &
5 16 6
4% = BT aie ¢ o &
& <3 .
=
. AL/0006-ECO-..-SE AL/D006-ECO. ..

30




ool =ele] FIX series

L

— — A24,/0005-008
|~ B
AL/0034-006-ECO. .. AL/0035-006-ECO...
J A/0034-006-ECO A/0035-006-ECO
‘-
b : AL/0034-006-ECO-S-E
Sliver
AL/0035-006-ECO-S-E
.., AL/0034-006-ECO-S-EB
ac — - - -
AL/0035-006-ECO-S-EB
A/0034-006-ECO
A/0035-006-ECO
AL/0026-2500-S...
e ————————— _’.‘r"’r"
| AL/0034-006-ECOKSE =
siver —————— —
AL/0035-006-ECO-K-S-E
1., AL/0034-006-ECO-K-SEB
AL/0035-006-ECO-K-S-EB
A/0034-006-ECOK AL/0034-006-ECOK. . AL/0035-006-ECOK. .
A/0034-006-ECOK A/0035-006-ECOK
A/0035-006-ECO-K

oy ;

3
N | -

P
D262 =
PVC black A24/0006-003
s 51,7
I
o
@5 £
1
| AL/0026-2500-5-E 2500
siver AL/0026-5000-S-E 5000
AL/0026-6000-S-E 8000
AL/0026-2500-S-EB 2500
b]aﬂh bt s T S e e e g e R T e il AE#J{GDGB_G.DE
AL/0026-5000-S-EB 5000

qu-*i,.-" 0005-008

PVC gray A24/0003-008 20 25




10006-ECO [T

25 A19/0004-012-02.5
12 5 A19/0004-012-05.0
o5 A19/0004-012-25.0 M FIX-SET
25 A19/0004-013-02.5
12,76 5 A19/0004-013-05.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5
15,76 5 A19/0004-017-05.0
25 A19/0004-017-23.0 A19/0004-rubber F-.. __— —__ A19/0004-rubber...
55 A19/0004-018-02.5 (black) (black)
.52 g A19/0004-018-05.0
o5 A19/0004-018-25.0 ]
2o 76 2.5 A19/0004-021-02.5 \\\
5 A19/0004-021-05.0 h D A18/0004-plast
: = 4pcs/m)
o5 A19/0004-021-25.0 A19/0004-L-ECO — ﬂx—][b (4pcs/
25 A19/0004-022-02.5 (4pcs/m)
R 5 A19/0004-022-05.0
og, A19/0004-022-25.0
Ifs—.::._:':‘_‘_
T
PVC-P - interier EPCH - axtarior BWYC-P - interier EPOM - axtaricr
A19/0004-F-G-02.5 05 A19/0004-17-18-G-02.5 25
sy A19/0004-F-G-05.0 5 ey A19/0004-17-18-G-05.0 5  16,76-17.52
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 o5
Rubber A19/0004-F-B-02.5 25 10,01 52 A19/0004-rubber12-13-02.5 25
A19/0004-F-B-05.0 5 A19/0004-rubber12-13-05.0 5
black 12 76-13.52
(exterier) 749 /0004-F-B-06.0 6 A19/0004-rubber12-13-06.0 6 , '
A19/0004-F-B-25.0 25 A19/0004-rubber12-13-25.0 05
Rubber A19/0004-rubber17-18-02.5 25
black A19/0004-rubber17-18-05.0 5
(exterer A19/0004-rubber17-18-06.0 g  eelfee
A19/0004-rubber17-18-25.0 o5
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5 s
A19/0004-rubber21-22-06.0 6 ; '
A19/0004-rubber21-22-25.0 o5

32



10006-ECO [N

o)

W

o

o

o

|

o AL/D026-...
[F ]

c

O

z CHEMICAL v
=

=

EE

L '

@ -

o

o

L

- A24/0005

[¥)]

i CHEMICAL Spcs/m

T

O

E MECHANICAL Spcs/m

0

O

Ll

w

: .

o

ks

<

— |

& CHEMICAL

T

O

-1 MECHANICAL Spos/m
S

'Rubber black A19/0004-D-B-100 100

A24 /0006003

Zpcs/m

Spcs/m

Spes/m

12-21,52

- - B

ANCHGF{ mﬂ r_ 56-57

Specs/m Spcs/m 1pcs/m 1pcs/2.5m
— +
[\N[elZle]=1] ||m) |=| 56-57
Spes/m Spoes/m Spes/m 1pcs/2,5m
Spes/m Spoes/m

- + El

I E 56-57

spcs/m 1pcs/m 1pcs/2.5m

33



FLEX series

L
el
< $20.2
14 Ex D é
o L™ "a. - = "a. i | I . "V ", . N . . . . . . . .V . S . I w
| ] |
o, . . O, . "V . " | | .. . . . ™ '\.'\‘L‘\ﬂ. b | | o |
[N 8
n'-'l.L_.l'DDH_—F'HD _Crain
: : AL/0006-UNO-2500-5-E 2500 50
:L"um satin  siver 1kN  12,00-17,52  built in drain v e
b AL/0006-UNO-5000-S-E 5000 100
v v \,
1‘_7_:':;-@ —
25 ‘ ! |
: l
A14/0005-pin A-DIN 1474-5x25
MeW
AlSI304 _ A-DIN 1474-5x25 : , .
zatin . | M/ '
AlSI316 A14/0005-pin _ ' PETG agray MP/excenter-mount

l ALUMINIUM =otin | siver  AL/OOOE-UNO-S-E-S0-IN oW ALlUMINIUM  S3tin | siver  AL/OOOE-UNO-S-E-90-OUT el
o)
L e &
i . .
9 O
6 0 &
: &
9. & 6
2
ANODIZED AL/0011-PRO-S-E-1250-Drain 1250
|hLIn.'IIHILH satin | silver a%.d AL/0006-UNO. ..
|_ | AL/0011-PRO-S-E-2500-Drain 2500 A/0011-PRO-._ -Drain

34



[olelslX8I\le] FLEX series

gilver

silver

PVC black

—
. -r'l"-'t
\
AL/0034-006-UNO-5-E
AL/0035-006-UNO-5-E
AL/0034-006-UNO-K-SE
AL/0035-006-UNO-K-5-E

2

B

H26.2

A24/0006-003

56.8

D T

JP_EJ

40,8

R ek AL/OQ27-2500-5-E 2500
ALUMINIUM == AL/0027-5000-5-E 5000
\i-'"
PVC gray A24/0005-008 20 25

AL/0034-006-UNO. .

ﬂzdgmﬂ&nnag

AL/0033-006-UNO. ..
A/0035-006-UNO

A/0034-006-UNO

AL/0027-.. -SE

/

AL/0034-006-UNO-K_..
A/0034-006-UNO-K

T

AL/0D35-008-UNO-K._..
A/0035-006-UNO-K

A24,/0006-003

A24,/0006-003

fl.Eri;’ 0005-008




* [SSLEEVNleY FLEX series

)] 1) i

.. B i - 4._-*"1"%,-.
31,17
25 A19/FLEX1-012-SET-02.5
L A19/FLEX1-012-SET-05.0 L Fexcser Z’T\
1276 2.5 A19/FLEX1-013-SET-02.5
' 5 A19/FLEX1-013-SET-05.0
678 25 A19/FLEX1-017-SET-02.5
: 5 A19/FLEX1-017-SET-05.0
1750 25 A19/FLEX1-018-SET-02.5 (black)
5 A19/FLEX1-018-SET-05.0

[DIACK)

Mo 7
r..-‘«.-,H ¥ L[:Hj-.d—_ .

1.'{“: ky EEErs, —

Q8/70-2735-PRO 27 5mm 1/47

Rubber black A19/0004-D-B-100 100 19.21 52

AL/glass-mont-PRO

AL/glazs-ment-PRO FLEX/FIX Mew

36




slelolsBUN @} FLEX series

: - | o
> k*%u < = 9 +
& 4 A
o
- [
E i
. i
< AL/0027-..  A24/0006-003 I\N[elZlelzls] |m) |=| 56-57
(73]
o
E CHEMICAL v 2pcs/m Spes/m Spos/m ipcs/m ipcs/2.5m
S
o =~ -
= S w I | +
s | oy i —
o ' £
o i
<) |
- ' - 5
= A24/0005 ANCHORS I = EI 56-57
e |
E CHEMICAL Spcs/m Spcs/m Spcs/m Spcs/m 1pcs/2.5m
0
]  MECHANICAL Spes,/m Spes/m Spes/m Spcs/m

n
q

2 ;
5 2* &

W u = 7

o 4

D =

Q

= ANCHORS JilIE= = =—\ 56-57

=1

E CHEMICAL Spcs/m Spcs/m 1pcs/m 1pcs/2,.5m
o o |

®)

E MECHANICAL Spcs/m

- A




slo[olsRVl[e] CONNECTION PROFILES - TOP MOUNT

22.1

AL/0051-2500-5-E

- satin @ silver
| ALUMINIUM AL/0051-5000-5-E

20,2
27

2200
5000

10,2

22.1

ANODIZED AL/0052-2500-5-E

e =atin silver
ALUMINIUM =~ AL/0052-5000-5-E

27

i

1

2500
5000

20,2

e RS i ke oA |

152
3.2

| S ——

| e = -0)
|
| |
1
11
11
1
1
S

38




ele[olsRVlN @] CONNECTION PROFILES - TOP MOUNT

ANODIZED

ALUMINIUNM Patur

silver

AL/0053-2500-N-E
AL/0053-3000-N-E

55

20,2

20,2

10,2

| T, o
1
1
]
i_

wrio-m s ot e

[ S

20,2

15,2 .

ALUMINIUM

=atin

silver

2200
5000

AL/0054-2500-5-E
AL/0054-5000-5-E

[ B8

2200
5000

Ed

P

39



elololHBINION F|LEX series

+1.1°
B L
A2
-
X [".-"';l 4
Y e W w Sy w W b W, T, iy Vi, W, . i, Ve, Y l"\."\."\. N oW f
' h"‘-\. Ty w Ny ow h R Y ™ N R '\.'\.&"ﬁ T T
66 i L1 1 200 j
£
- . &,0041-PRC-5-E.. .Drain bailt in dragn :
ANODIZED ) | AL/0005-UNO-2500-S-E 2500 50
o =at | 1kN 12.00 - 17.52 v v AW
ALuminiom =20 SIVET L 6005-UNO-5000-5-E 5000 100 |
1.5
1.3
.ANGLE %
|' ANODIZED : siver  AL/0034-005-UNO-S-E . " ANODIZED : AL/0044-UNO-2500-S-E 2500
ALUMINIUM silver AL/0034-005-UNO-S-E-ANGLE %2 UMINIUM  SSER | silver A UNO-5000S.E 5000 hew

[
Y |
| A14/0005-pin A-DIN 1474-5x25
A24/0005-009

| PVC gray A24/0005-009 30 125 AlSI304 e A-DIN 1474-5x25 I .

AlSIZ16 A14/0005-pin

B ' AL/000SUNO-SESOAN ALUMINIUM  S3tin | silver  AL/OOOS-UNO-S-E-90-OUT

o



slelolBNINION FLEX series
12 2.5 A19/FLEX1-012-SET-02.5 KT\

5 A19/FLEX1-012-SET-05.0 M FLEX-SET
12.76 2.5 A19/FLEX1-013-SET-02.5

5 A19/FLEX1-013-SET-05.0
16,76 2.5 A19/FLEX1-017-SET-02.5

5 A19/FLEX1-017-SET-05.0

black

1752 25 A19/FLEX1-018-SET-02.5 (black)

5 A19/FLEX1-018-SET-05.0

b

pioon I.rF:'H_'[F.-‘ [DICK )
{E“:,% '—-—-'EJ.E‘_J,_‘_'ILL_‘IJT_
" H | ﬂ A19/FLEX1...
Q8/70-275-PRO  275mm 1/4"
Rubber black A19/0004-D-B-100 100 12.21 52
\
Y
AL/glas=-mont-PRO
AL/glass-ment-PRO FLEX/FIX AAEW PETG gray MEfsla-ns-shp MeW

=
2 ==
=4 e
D. ﬁ
=]
o
-l
< ANCHDF{ 1l 56-57
ancHors ERIES S
1))
E CHEMICAL Spcs/m 1pcs/2,5m - -
E — — — - AL/O011-PRO-5-E-1250-Drain 1250
silver
E MECHANICAL Spcs/m AL/0011-PRO-5-E-2500-Drain 2500

41



I8 B R lll NEKT %0

tested

leseries AhP LGAM :.Ilﬂu ES. e [ RlSE

[EFY & F §8F
[=1 -

glass {
- L
NS ] =
N <Al
E B
A ) | N il
4 < SN -
= _1
- T =
i e T T-..
™ 2w b
= \
1
-——I = 485 3 250 |
AL/0005-D. Drain ﬁggggﬁjgga
S 4
AS0005-5-E.. .Dran buwilt im drain
AL/0005-D-1250-5-E 1250
AL/0005-D-2500-5-E 2500 :
silver  AL/0005-D-5000-5-E
'ANODIZED : . =000 o7 v
Alimmiata S3tin AL/0005-D-5000-5-E-Drain 125 1kN 12,00- 21,52 |
AL/0005-D-6000-5-E 6000
oo AL/0005-D-2500-S-EB 2500 -
dic
AL/0005-D-5000-5-EB 5000
...ANGLE
siver AL/0034-005-D-S-E
Atmmote atin | black  AL/0034-005-D-S-EB
| siver AL/0034-005-D-S-E-ANGLE ./

. [

-

LAY ]
A24/0005-007 AL/0005-007 | /.
AL/0005-007
| A24,/0005-007
A
AIJHIHL ;pﬁp AL/0005-007

25 30

PVC gray A24/0003-007

. siver AL/O00S5-D-S-E-90-IN anopizED . siiver  AL/O005-D-S-E-90-OUT
black AL/O005-D-S-EB-90-IN (AERRINSIN, black AL/O005-D-S-EB-90-OUT

42



Nololo B8] FIX series

2.5 A19/0004-012-02.5 \
12 5 A19/0004-012-05.0
o5 A19/0004-012-25.0 M SR
2.5 A19/0004-013-02.5
12,76 5 A19/0004-013-05.0
o5 A19/0004-013-25.0
25 A19/0004-017-02.5
16,75 5 A19/0004-017-05.0
o5 A19/0004-017-25.0
2.5 A19/0004-018-02.5
17,52 = A19/0004-018-05.0 A19/0004-rubber F-.. A19/0004-rubber...
- (black) (black)
o5 A19/0004-018-25.0
2.5 A19/0004-021-02.5
20.76
5 A19/0004-021-05.0
o5 A19/0004-021-25.0
— 2.5 A19/0004-022-02.5 A19/0004-L-ECO A19/0004-plast...
: 5 A19/0004-022-05.0 (4pcs/m) (4pcs,/m)
o5 A19/0004-022-25.0
-
PVC-P - inferior EPDM - exteriar PWC-P - intariar EPDM - axtoriaer
A19/0004-F-G-02.5 25 A19/0004-17-18-G-02.5 55
91 A19/0004-F-G-05.0 5 912y A19/0004-17-18-G-05.0 5 16.76-17.52
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 o5
Rubber A19/0004-F-B-02.5 55  10.915p A19/0004-rubber12-13-02.5 o5
biack A19/0004-F-B-05.0 5 A19/0004-rubber12-13-05.0 5
- 12 76-13.52
(=x=riz A 19/0004-F-B-06.0 6 A19/0004-rubber12-13-06.0 6 E-13;
A19/0004-F-B-25.0 o5 A19/0004-rubber12-13-25.0 o5
Rubber A19/0004-rubber17-18-02.5 55
biack A19/0004-rubber17-18-05.0 R
enererl A19/0004-rubber17-18-06.0 6 g hf
A19/0004-rubber17-18-25.0 o5
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 T e
A19/0004-rubber21-22-25.0 05
o
Q9/03-0,2x9
A/6920-005 '\ AL/0005D...
. |
i Lo AL/0044-2500-SE 2500 |
ANODIZED __,. AL/0044-5000-5-E 5000
ALUMINIM  =3tP oy AL/0044-2500-SEB 0500 v

AL/0044-5000-5-EB =000

' CORTEN [liaw| CA/0044-2500-CORTEN 2500




- " o0 = KeleleL:®sl FIX series

44

—

e L -
01 1

AL/0005-5-E-1250-Drain  AL/000>-D-1250-5-E 1250

AL/0005-D-2500-5-E

silver
i AL/0005-D-5000-5-E
AL/0005-5-E-2500-Drain AL/0005-D-5000-S-E oo

. AL/0005-D-2500-S-EB

. black AL/OQ05-S-EB-2500-Drain AL/0005-D-5000-S-EB

| ¢ 3
PETG gray A19/glass-stop MeW
Rubber black A19/0004-D-B-100 100 12-21,52

AL/0005-D

- =
| et
",
L
=

AL/0005-.. Drain

AL/OD0S-D. ..

forglasst (12-21,52)
for clope angle (= 457)

n
o
o
e
9]
=
I

CHEMICAL

MECHANICAL

&

2=

- INlelzlelsl] 1m) (= | 56-57

opcs/m 1pcs/2,0m

Spcs/m




e R T~ = W

POWDER COATING RAL

-~ S ' (for profiles, handrails and various components)

any color 4/

DYNAMIC TEST G=50kg

G




WM FIX series

il :.-.-i.-_- T, 2 Eﬂﬁ" 5i1VEr

siver AL/0038-004-S-E

- a

P !

A24/0005-007 AL/0005-007

i . AL/0005-007

LIV 25 30
PVC gray A24/0005-007

hie e

128

i AL/0009-2500-5-E 2500
AL/0009-5000-5-E 5000

"D catin | siver AL/O009-S-E-90-IN

STATIC STUDIO

glass t
I = & "
) B
o b
o N Q‘E
ELLE N E‘][ .
] L" T "_[ "
Q \ | ]
2 % ey
5
|
40 P = Qe Y

=0

100

130

21,52-25,52

\ T
AL/O005-007
AZ24/0005-007 |
i
V/K AL/OD0O9.
\“\-. F
g5 4B
E‘I ;N
‘\‘"&p#/ E
s 2
siver  AL/O009-S-E-S0-OUT




LN FIX series

2.0 A19/0004-012-02.5 ?
E190 5 A19/0004-012-05.0 lul FIX-SET
20 A19/0004-012-25.0
¥ A19/0008-023-02.5
29 1.52 o A19/0008-0235-05.0
A19/0004-rubber F-.. ¢ - A19/0004-rubber...
25 A19/0008-0235-25.0 (black) > . (black)
/ :
/
- 5 e
A19/0004-L-ECO A19/0004-plast...
(4pcs/m) A19/0008-plast...
(dpcs/m)
PVC-P - intariar EPDM - auxteriar PP - intariar EPDM - exteriar
A19/0004-F-G-02.5 2.5 A19/0004-17-18-G-02.5 2,9
n:ir?'rgﬁgﬁ A19/0004-F-G-05.0 5 I:E!Efgr] A18/0004-17-18-G-05.0 S 16,76-17,52
A1l EIQQﬂﬂ-F-G-E 2.0 29 _ _ Al ngﬂﬂﬂ-'l 7-18-G-25.0 25
Rubber A19/0004-F-B-02.5 25 12-21 52 A19/0004-rubber12-13-02.5 2.5
black A19/0004-F-B-05.0 2 A19/0004-rubber12-13-05.0 2 157813 5
\extenen A19/0004-F-B-06.0 (3] Al 9_,|" 0004-rubber12-13-06.0 B : '
A19/0004-F-B-25.0 22 A19/0004-rubber12-13-25.0 25
Hl.llihnr Al Qfﬂﬂﬂﬂ-rut_bheﬂ 7-18-02.5 2.9
biack A19/0004-rubber17-18-05.0 o
[exterier) 15, fe-1 ?, 52
A19/0004-rubber17-18-06.0 (5]
A19/ ﬂﬂﬂ#—rubher‘! 7-18-25.0 Pa
A19/0004-rubber21-22-02.5 2,9
Al _9:’ 0004-rubber21-22-05.0 2
A19/0004-rubber21-22-06.0 (3] el
A19/0004-rubber21-22-25.0 25
m black A19/0004-D-B-100 100 12-21.52

i ANCHORS

forglass t (12-21.52)
for slope angle (< 45%)

CHEMICAL 7 pcs/m 1pcs/2m o pe B o |~

w0
&
o]
L
&)
=
<I

PETG gray A19/glas=-ctop

47



FIX series AhP BITYNe

tested STATIC STUDIO

W g
e

L .-
— qlass T
L
I /= H |
N H
™ Y
™
N N
| N N
s N N
N | A
N | INTEE:
NN
K |
NN
i
[P
1% &
-
i g
N B ¥
b
Y
I O 200 .
AL/0011-1250-N-E 1250
- AL/0011-2500-N-E 2500 50 1 o4~
AL/0011-S000-N-E 5000 _ 100 KN 19.21 52
AL/0011-6000-N-E 6000 =
black AL/0011-2500-N-EB 2500 50
AL/0011-5000-N-EB 5000 100
14 4
T
[
&
..ANGLE 28
i silver AL/0034-011-S5-E cibver AL/0045-2500-5-E 2500 .
ANODIZED - ANODIZED N AL/0045-5000-5-E S000
AL UMINIL satin black AL/00234-011-S5-EB Grinsntaboasri - {1, '
' - . ALUMINIUM AL/0045-2500-5-EB 2500
silver HLIDGEHﬂ-EFE-AHELE:W black AL/0045-5000.S EB =

CA/0045-2500-CORTEN EEDGj

siver AL/0O11-N-E-90-IN | ANODIZED =atin  siver AL/OO11-N-E-90-OUT
| black AL/0011-N-EB-90-IN “_'—”E"“"i black AL/0011-N-EB-90-OUT




elokkB FIX series

g
25 A19/0004-012-02.5 jﬁ
12 5 A19/0004-012-05.0
M FIX-SET
25 A19/0004-012-25.0
25 A19/0004-013-02.5
12.76 5 A19/0004-013-05.0
25 A19/0004-013-25.0
25 A19/0004-017-02.5 / \
16,76 5 A19/0004-017-05.0 A19/0004-rubber F-... S ?ﬁﬂ“;‘;“bb”"'
| (black) e
25 A19/0004-017-25.0
2,5 A19/0004-018-02.5
W59 5 A19/0004-018-05.0
25 A19/0004-018-25.0
25 A19/0004-021-02.5 <
20,76 - A19/0004-plast...
- 5 A19/0004-021-05.0 A19/0004-L-ECO (4pcs/m)
25 A19/0004-021-25.0 (4pes/m)
2,5 A19/0004-022-02.5
cl.ac 5 A19/0004-022-05.0
25 A19/0004-022-25.0 5
FWVC-P - interisr EPDM - extariar PYC-P - inferiar EPDM - extariar
A19/0004-F-G-02.5 55 A19/0004-17-18-G-02.5 25
93 A19/0004-F-G-05.0 5 9 A19/0004-17-18-G-05.0 5 16761752
A19/0004-F-G-25.0 25 A19/0004-17-18-G-25.0 25
Rubber A19/0004-F-B-02.5 55  12.0152 A19/0004-rubber12-13-02.5 25
biack A19/0004-F-8-05.0 5 A19/0004-rubber12-13-05.0 5
(@reie) A19/0004-F-B-06.0 2 A19/0004-rubber 12-13-06.0 §  fo1oag
i A19/0004-F-B-25.0 25 A19/0004-rubber12-13-25.0 25
Rubber A19/0004-rubber17-18-02.5 25
biack A19/0004-rubber17-18-05.0 5 e
(=x=nerl 719/0004-rubber17-18-06.0 6 HRER
A19/0004-rubber17-18-25.0 25
A19/0004-rubber21-22-02.5 25
A19/0004-rubber21-22-05.0 5
A19/0004-rubber21-22-06.0 Sl e
A19/0004-rubber21-22-25.0 25
'Rubber black A19/0004-D-B-100 100 12-21,52

L

~ fﬁ, 4 E
e

‘ . (i E 56-57

CHEMICAL Spos/m

rae————
i —

AL/0011

2]
o
o]
L
O
=
= §

MECHANICAL Epcs/m Spcs/m 1pcs/m 1pcs/2.5m

49



eslosR B {M FLEX/FIX series

230

LGANY

AbP

_ AL/0011-PreXL-2500-N-E
silver

AL/0011-ProXL-5000-N-E

2500 =0
=000 100

g

ANODIZED = AL/0011-PRO-5-E-1250-Drain 1250
ALUMINIUM satin silver :
AL/0011-PRO-5-E-2500-Drain 2500
..ANGLE ..ANGLE
AL/0034-011-ProXL-S-E
ANODIZED : _ AL/0034-011-ProXL-S-E-ANGLE EeW
' : satin silver
ALUMINIUM AL/0035-011-ProXL-5-E
AL/0035-011-ProXL-S-E-ANGLE e
ALUMINIUM satin  silver AL/OO011-ProXL-N-E-90-N NEW

50

e tested| STATIC STUDIO
e e
- L
r._’i}
&)
|
)
bx Db
- L1 i 200 P
T 1l@D14 @
D28
M ey R
v |laL/0011-PRO. Drain
2N 16,76-3152 DD v L1
ran
™~

\%5

A14/0005-pin A-DIN 1474-5x25

e
AlSI304 A-DIN 1474-5x25
satin :
AlSI31e A14/0003-pin
11
1 -
)
£
1 %
70 |

|
AL/0046-ProXL-2500-5-E 2500 | A

ANODIZED .
AL/0046-ProXL-5000-5-E 000 |

ALUMINIUM =3t S

ALUMINIUM  S3tin | siver AL/OO11-ProXL-N-E-90-OUT  fo.&il/



16,76

17,52

20,76

21,32

24,76

25,52

31,52

eslosRB=){M FIL EX/FIX series

2.9

2.9

2.5

2,5

2,2

2,9

rhiet

A19/FIX2-25-5ET-02.5
A19/FIX2-25-5ET-05.0
A19/FIX2-265ET-02.5
A19/FIX2-26-SET-05.0
A19/FIX2-32-5ET-02.5
A19/FIX2-32-5ET-05.0

A19/FLEX2-017-SET-02.5
A19/FLEX2-017-SET-035.0
A19/FLEX2-018-5ET-02.5
A19/FLEX2-018-5ET-05.0
A19/FLEX2-021-5ET-02.5
A19/FLEX2-021-5ET-035.0
A19/FLEX2-022-5ET-02.5
A19/FLEX2-022-5ET-05.0

A19/FIX2-..

&

.-?h!: i
ﬂrfi{ﬁ_;‘-_,rgﬂ.u —"

i
|

= A1

Im FLEX-SET

A19/FLEX2-...

Q8/70-275-PRO 275mm

:ZFll.lhher black A19/0004-D-B-100

3

AL/glazzs-mont-PRO

AL/glazs-mont-PRO

_
=
o
i
a3
o
o
i
<

ANCHORS

H—»

-

CHEMICAL Spcs/m

MECHANICAL

1/4"

100 12-21,52

FLEX/FIX

opcs/m

AL/0011-PRO. Drain

-
: i [=| 56-57

opcs/m 1pcs/m

1pecs/2,50m

o1



o[oki: M FLEX/FIX series

STATIC STUDIO

8

L

1 E

5 1
g

1 B

1 1
£

-1

4

4

5 -1

1 |

B 1

1

5 1
1

]

41 g

B 11

1

1 g

1 &

B 11

E

B £

P

|

i% ! T
AL/0D11-PAC. Dirain

0018-2500-S-E 2500 50 it
ﬂ% o e - N 16,76-31,52 Yt v 11° | eW
qﬂ"“— AL/0018-5000-5-E 5000 100 and
L [\"\

r..i...
i |

A14/0005-pin A-DIN 1474-5x25

ALUMINIUM == AL/0011-PRO-S-E-2500-Drain 2500 AlSIZ16 % A14/0005-pin

| |
A24,/0005-008
d-"'f -‘H“"'
e AL/0034-018-5-E
!-mnimm catin | silver e MW AL/0034-018-S-E AL/0035-018-S-E

Aoy S3tin | siver AL/0018-S-E-904N e alumiium S3tin  siver AL/OO18-S-E-S0-OUT  Juei/

¥



| e[okb:M FLEX/FIX series

18.76 2.9
5
17.52 2.9
5
20.76 2
5
o150 2.0
5
2476 25 A19/FIX2-25-SET-02.5

o A19/FIX2-25-5ET-05.0
o5 52 2.2 A19/FIX2-265ET-02.5

5 A19/FIX2-26-5ET-05.0
3152 2.5 A19/FIX2-32-5ET-02.5

o A19/FIX2-32-SET-05.0

=14

T
A19/FLEX2-017-5ET-02.5
A19/FLEX2-017-SET-05.0
A19/FLEX2-018-SET-02.5
A19/FLEX2-018-SET-05.0
A19/FLEX2-021-SET-02.5
A19/FLEX2-021-5ET-05.0

A19/FLEX2-022-5ET-02.5
A19/FLEX2-022-5ET-05.0

Rubber black A19/0004-D-B-100 100 12.21,52
v &P
_.'—‘I"'“"- mﬁfﬂ‘“?h _.-_-_'_.-*
==

i
|

| Q8/70-275-PRO 275mm

WA
M

AL/glass-mont-PRO }

AL/glass-moent-PRO

A24/0005
-008

CHEMICAL

opes/m

MECHANICAL 5Spcs/m

ANCHORS

1/47

FLEX/FIX

Bpes,/m

Spes/m Spes/m

9
‘

5, ]
L &

rSC 4 A'

—— =
=

F‘-"’i:.

A,

A19/FIX2-...

F=

M FLEX-SET

A19/FLEX2-__.

AL/0011-PRO. Drain

I ANCHORS

Spes/m 1pes/2.5m

53



ologicl FLEX/FIX series
AhP !‘&fﬂ STATIC STUDIO

i T
T =T

‘_\_\-‘_-—\_
B
'—-..______h- |_
— _-"-ln.._‘_____ ==
‘ ‘ @28
’ . D14 6x D &
- “h 'b Y e S ™ S S | | | e T S Y S e e Y e = e S T | | 9 §
. \
" e e e O Y | | Bl s, WO, e L xm%xnu | R
~ l L 190 J _ 11 5 200 o
W &
L AL/0C11-PRO. Drain
' IZED : AL/0019-2500-N-E 2500 50 g,
| -nf‘.’*"“m“mm satin | silver . 3kN 135;22_ bé‘"". n v +1.1° | e
[fufsactatind AL/0019-5000-N-E 5000 100 ~ Tein
—
\tliﬁ
A14/0005-pin A-DIN 1474-5x25
e
I hew K
| AlSi304 A-DIN 1474-5x25
"ANODIZED @ .. : ' satin -
|AL.l_lHIHIUL-'I_ =zatin  silver AL/0034-019-5-E AlSI316 ati A14/0005-pin
b \ v
; : 1 o I
| =
el
| m satin | siver AL/O019-S-E-90-IN-OUT 4o 244/ PETG gray MP/excenter-mount

I

ANODIZED AL/0011-PRO-5-E-1250-Drain 1250

satin | silver MW

ALDRENILSY AL/0011-PRO-S-E-2500-Drain 2500 g SCREERES

o4



slosicl FLEX/FIX series

=11
e _—T_ Tl
1676 2.5 A19/FLEX2-017-SET-02.5
5 A19/FLEX2-017-SET-05.0
1750 25 A19/FLEX2-018-SET-02.5
: 5 A19/FLEX2-018-SET-05.0
0076 2.5 A19/FLEX2-021-SET-02.5
' 5 A19/FLEX2-021-SET-05.0
2150 25 A19/FLEX2-022-SET-02.5
Bl 5 A19/FLEX2-022-SET-05.0
24,76 25 A19/FIX2-25-SET-02.5
i 5 A19/FIX2-25-SET-05.0
o550 2,5 A19/FIX2-26SET-02.5
' 5 A19/FIX2-26-SET-05.0
31,52 25 A19/FIX2-32-SET-02.5
5  A19/FIX2-32-SET-05.0
A19/FIX-._ A19/FLEX2-..
Hl.hhelf black A19/0004-D-B-100 100 12.21 52
T .--"".--j
TnE——"
|
AL/glass-mont-PRO 3
AL/glass-mont-PRO FLEX/FIX MW | as/70-275-PRO 275mm 1/4"
: -~
v = +
o
] U
=,
ANCHDH mﬂ EI 56-57
(1) ]
E CHEMICAL Spcs/m Spcs/m Spcs/m 1pcs/2.5m
T
0
E MECHANICAL 5Spcs/m Spcs/m Spcs/m

29



T T 2 e ®
| i | el @ ©

- = ¥
P
08dixMe | Q5/01B-400
B Q5/08VHG-  Q5/01-WIT- VW-DIN 7991
o M8100/S..  -UH300... MEx20-P
8 Q5/-08-
2 | FH12-50%
5 AS5/08-
= _105x11xM8 Lo/ 016e00 | | |
i A5/0BVHG- | Q5/01-WIT- W.DIN 7991-A4
M8-100/A4._. | -UH300... MEx20-P
A14/08-
- | _FH12-507* )
i Q5/08VHG-  Q5/01-WIT- DIN 7380
o N A19/27-M10 | Q5/01B-400 IM0g0/S . | UH300. MiB<00 B 6.70 DIN 125 10-Zn
(0 Q5/08-HAZ-
2 _M8-855/S,_ "
2 AS/08VHG- | Q5/01-WIT- A4-DIN 7380 A-DIN 125-A2
o e SRS AHO S ) CEp R M10-80/A4... | -UH300.. M10x20 M10
) A5/08-HAZ-
< MB-855/A4.,
Q5/08VHGM-  Q5/01-WIT- DIN 7380
A18/27-M10 Q5/01B-400 l080/S el M10x20 B 821 DIN 125 10-Zn
Q5/08VYM 250-  Q5/01-WIT-
: . e SHimen DIN 934 M10-Zn DIN 125 10-Zn
T Q5/08-HAZ-
o -M8-855/5S. ..
- Q5,/08-8S-
< S-10-90/S...
S AS/08VHG- | Q5/01-WIT- A4-DIN 7380 A-DIN 125-A2
o H A1/27-M10 | ©5/018400 M10-80/A4.. | -UH300... M10x20 M10
3J AS/08VM 250-|  Q5/01-WIT- ADIN 125-A2
S ouT M10-150-Ad_ VM 250. fad DI S0 M0 M10
A5/08-HAZ-
M885S8/A4
A5/08-BS-
5-10-90/A4 .
Q5/08VHGM | Q5/01-WIT- DIN 7380
g A18/27-M10 Q5/01B-400 NI i a5 Mo DIN 125 10-Zn
*lo Q5/08-HAZ-
2| & _MB-855/S__
el [Ba Q5/08-BS-
3| 3 | S10-90/S. . |
S| © A5/08VHG- | Q5/01-WIT- A4-DIN 7380 A-DIN 125-A2
o2 B Jf e Siighiti b A M10-80/A4.. | -UH300.. M10x20 M10
J1 2 A5/08-HAZ-
ME-B5S/A4__
A5/08-BS-
S 10-90/A4 .
. | asorsace
Q5/08VHG-  Q5/01-WIT- DIN 7991
M12-125/5_  -UH300... M12x30 8 8-Zn
AS,/08-
105x1ixmg | 95/018-400 |
AS/08VHG- | Q5/01-WIT- A4-DIN 7991
M12-195/A4 | UH300.. M12x30 |
A-DIN 975 M12 Q5/01B-400 A-DIN 934 M12 ﬁ“",‘iﬂéﬂ‘?
Q5/08VM 250-  Q5/01-WIT-
M12-135.. VM 250...
A-DIN 575 M12 Q5/01B-400 ADIN 934 M2 ADIN 1Z5-A2
AS/QBAM 250 Q&/01WIT-
| 12135-A4 | UM 250.__
A-DIN 975 M12 Q5/01B-400 ey [t s
Q5/08-HAZ-
_M8-855/5.__
ADIN 1587-A2 = A-DIN 125-A2
ADINS7TSM12 Q5/01B-400 | M1 Mi3
A5 /08-HAZ-
-ME-E55/A4 ...
o A-DIN 975 M12 Q5/01B-400 A-DINS34 M12 ADINISS-AZ
55 Q5/08-VM 250-  Q5/01-WIT-
3| | CMI2435 . M250.. |
§ § ADIN 975 M12 Q5/01B-400 A-DIN 934 M12 | ADIN 125-A2
By A5/08VM 250-| Q5/01-WIT-
i M12-135-A4 VM 250
Q5/08VHG- = Q5/01-WIT- DIN 7380
A A19/27-M10 | Q5/01B-400 Srlesorar | ans . oI DIN 125 10-Zn
5 i Q5/08-HAZ-
3| & ME-855/5 ..
=] AS/0BVHG- | Q5/01-WIT- A4-DIN 7380 ADIN 125-A2
|9 A19/27-M10 Q5/018-400 M10-80/A4. . -UH300... M10x20 M10
iy AS5/08-HAZ-
<L| < -M8-855/A4
i ADIN 1587-A2 A-DIN 125-A2
2 A-DIN 975 M12 Q5/01B-400 - i
Z Q5/08VHG-  Q5/01-WIT- DIN7380
3 Mio8o/s.. | -UH300.. M10x30'8.8-Zn LN 9021 10-Zn
§ A-DIN 975 M12 Q5/01B-400 satll Bt s el e s
5 AS/08VHG | Q5/01-WIT- A4 DIN7380 A-DIN 9021-A2
= M10-80/A4... | -UH300... M10x30 M10

56



icHoRs .

ik

]
]

1 & | iﬁa _
_ LF st'vEE R —
oncemreo morors [C €A MR I

OE

A-DIN 975 M12 Q5/01B-400 el i i
o | Q5/08VHG-  Q5/01-WIT- DIN7380 .
& = | -MI0-80/S. .. -UH300_.. M10x30 8 87n DIN 2021 10-Zn
= QS5/08-HAZ-
S M10-106S/5...
8 A-DIN 975 M12 Q5/01B-400 st il B Rede s
2 St AS/0BVHG- | Q5/01-WIT- A4-DIN7380 A-DIN 9021-A2
-M10-80/A4...  -UH300... M10x30 | M10
AS/08-HAZ-
-M10-1065/A4._.
A5/08-
105x1ixmg | Qo/01B400 = —
Q5/08VHG-  Q5/01-WIT- W-DIN 7991
i -ME-100/S...  -UH300... M8x20-P
; Q5/08-FH12-50
o | Q5/08-HAZ-
Q | -M8-BOSK/S ...
< A5/ 08-
3 | A0Suixme | QS/018-400 _ | i .
i | A5/08VLG- = Q5/01-WIT- W-DIN 7991-A4
i M8-100/A4... | -UH300... M8x20-P
A14/08FH12-50
AS/08-HAZ-
- -MB8-B0SK/A4...
o 105 1XME Gutip At
o | ¥ Q5/08-VHG-  Q5/01-WIT- DIN 7991
8 | -M12-125/5...  -UH300... M12x30 8.8-Zn
A5/08-
J o 105aiame | Q5/01B400 | |
AS/08VHG- | Q5/01-WIT- A4-DIN 7991
. | Mi2-125/A4.... -UH300.. M12x30 |
ADIN 975 M12 Q5/01B-400 ADIN 934 M12 Aﬂ"ﬂﬂ%&"’@
Q5/08VM 250-  Q5/01-WIT-
& M12-135.. VM 250...
Q5/-08-
= FBN12-30...°"
o Q5/08-HAZ-
= ; | | | - -MB-855/5... R
B
3 A-DIN 975 M12 Q5/01B-400 A-DIN 934 M1z | ADIN 125-A2
| AS/0BVM 250-  Q5/01-WIT-
it M12-135-A4 . VM 250...
A-Q5/08-
-FBN12-30...~
AS/08-HAZ-
| -MB-855/A4..
| Q5/08-VM 250-  Q5/01-WIT- | A-DIN 125-A2
A-DIN 975 M10 Q5/01B-400 P an 200 QoI A-DIN 934 M10 e
- Q5/-08-
o|% ™ | | FBN12-30_**
Dl a Q5/08-HAZ-
B[ MB-855/S..
o= AS/08VM 250-  Q5/01-WIT- A-DIN 125-A2
8|8 ADINS7SM10 |  Q5/01B-400 oo SWase ADINg3amio ADILIS
oL | A-Q5/08
e = | | _-FBN12:30_ "
AS/08-HAZ-
MB-B5S/A4...
Q5/08VHGM-  Q5/01-WIT- DIN 7380
A19/27-M10 | Q5/01B-400 Aersals BieT A HIE MD250°8 S7n DIN 125 10-Zn
Q5/08VM 250-  QS5/01-WIT- - Q5/08-W
b | M12-155..  VM250.. DN A MIZ | Sihe 1ors
0 Q5/08-HAZ-
5 ME-85S/S...
o AS/0BVHG- | QS/01-WIT- A4-DIN 7380 A-DIN 125-A2
< AS/08VM 250-  Q5/01-WIT- AS/08-W
Zeidf | M12-155-Ad..  VM250... AN SIS | sHB-127a4
AS/08-HAZ-
MB-B5S/A4...
Q5/08VHGM-  Q5/01-WIT- DIN 7380
A19/27-M10 | @5/01B400 | OS(PRIEE (00 V10830 B 8.2n DIN 125 10-Zn
Q5/08VM 250-  Q5/01-WIT- Q5/08-W
i | M10-90."  -UH300.. ADINS3AMIO  ghB o5
& Q5/08-HAZ-
z | M10-106S/S...
o AS/OBVHG- | QS5/01-WIT- A4-DIN 7380 A-DIN 125-A2
J AIS/2rMI0 | Q5/01B400 | Mio80/A4 | -UH300.. M10x20 I
AS/08VM 250-  Q5/01-WIT- : AS/08-W
skl | M10-115-A4... | -UH300... ADINSSAMIO| ohiR 1074
AS/08-HAZ-
-M10-1065/A4...

for Q5/08-FH12-50

Please refer to the
respective cerificates

certification "ETA option1” for cracked and uncracked concrete

°*  certification “"ETA option7” for uncracked concrete only L : | | S ol Balas rREfEnR

. for load = 0. 7kN ' 5 . ' tative for specifications
the table applies only to the situation without the use of drain for . | such as maunting detail
pmﬁies = or glass dimensions

CUTTING SERVICE
[ 600 mm saw blada




58

| FIX

AL/0004-...

AL/O008-...

AL/000E-...

AL/glass-mont-pro

lg ;&Lf glass-mont-pro |

1250

2500

<000

6000

2500

5000

1250

2500

S000

6000

20

100

20
200
100

20

100

Q9/03-0,2x9

125 250




| FIX

AL/0005-...

AL/0009-...

AL/OO011-...

1250

2500

S000

6000

2500

S000

1250

2900

=000

6000

250
125

150
=20

200
100

125

250




60

AL/O0004-LIGHT...

)E 4” AL/0004-PRO...

‘S AL/0011-PRO...

2500

=000

2500

=000

6000

2500

2000

a0

100

o0

100

20

100




AlL/glass-mont-pro

T

2500 50
AL/0006-UNO...

5000 100

2500 50 D
AL/0018...

5000 100 B

2500 50 C
AL/0019...

5000 100




ARBRORIEEN SET

e

W
p=
>
o
=
w
O
o
o
-
<

art, h L glass art. h L glass

AL/ZALVR100-2500-004 1000 2500 16,76 VSG/ESG AL/ZALVR100-2500-006 1000 2500 16,76 VSG/ESG|

art. h L glaz= t 2 art. h L glaz= t

AL/ZALBR100-2500-005 1000 2500 16,76 VSG/ESG ' AL/ZALBR100-2500-011 1000 23500 16,76 VSG/ESG|

62



12,76/16,76

L=

miir. L
rax.L

L1 {400,500, 1100,1200mm) L2 {A00,B25.850,.. 975, 1000mmm | L3 {400.500,...1 100,51 200mrm)

AR
NN

%1 [5-10mm] %2 {5-20mm| X2 [5-20mm] *1 [5-10mm)

Glass balustrade configurator
(for glass t=16.76. height 1000/ 1100/1200 mm)

2-fields (gap X=15-40mm {(X1=5-10mm, X2=5-20mm))

|handrail length glass length L1, L2{mm)
L (mm) 400 500 ] FO0 | 800 | 825 850 Br5 =00 925 | 850 ars
min. 1215 1 1
1600/ 1 1
1600,/2 1 1
{825 '
1875 _
2000/ 1 1 3
2000/2 1 1
meax. 2 240 1 1

1000 | 1100 | 1200

S

J-fields (gap X=20-50mm (X1=5mm, X2=5-20mm}))

|handrail length glass length L1, L2, L3(mm])
L () 400 | 500 [ 60D | 700 [ 800 825 | 850 | 875 | 900 | 925 [ 950
T LA L Ed b e
2200/ 1 2 1
2200/2 1 1 1
2525
9575
3225
3275 1
max_ 3450 i

S, U] IO [rrcil

b | T34 5D
-

[ T e Il

| handrail length

glass length L1, L2, L3, LA(mm)

Limm)  ["400 | 500 [ 600 | 700 | 800 825 | 850 [ 875 | 900 | 925 | 950 | o75 | 1000 [ 1100 | 1200
min. 2425 5 2
3200, 1 2 2
3200/2 2 2
2825 1 1 2
2875 1 1 2
4205 1 1 3
4275 ' ' ' - 1 1 2
ma, 4470 ' ' L 2

H-fields (gap X=30-90mm (X1=5mm, X2=5-20mm))

|handrail length glass length L1, L2 L3, L4, L5(mm)

GS/12.76-100x60-VSG/ESG
GS/12.76-100x70-VSG/ESG
GS/12.76-100x80-VSG/ESG
GS/12.76-100x90-VSG/ESG
GS/12.76-100x95-VSG/ESG
GS/12,76-100x100-VSG/ESG
GS/12.76-110x60-VSG/ESG
GS/12.76-110x70-VSG/ESG
GS/12.76-110x80-VSG/ESG
GS/12.76-110x90-VSG/ESG
GS/12.76-110x95-VSG/ESG
G5/12,76-110x100-VSG/ESG
GS/16,76-100x40-VSG/ESG
GS/16,76-100x50-VSG/ESG
GS/16,76-100x60-VSG/ESG
GS/16,76-100x70-VSG/ESG
GS/16,76-100x80-VSG/ESG
GS/16,76-100x82,5-VSG/ESG
GS/16,76-100x85-VSG/ESG
GS/16,76-100x87 5-VSG/ESG
GS/16,76-100x90-VSG/ESG
GS/16,76-100x92,5-VSG/ESG
GS/16,76-100x95-VSG/ESG
GS/16,76-100x97 5-VSG/ESG
GS/16,76-100x100-VSG/ESG
GS/16.76-110x40-VSG/ESG
GS/16,76-110x50-VSG/ESG
GS/16,76-110x60-VSG/ESG
GS/16,76-110x70-VSG/ESG
GS/16,76-110x80-VSG/ESG
GS/16,76-110x82 5-VSG/ESG
GS/16,76-110x85-VSG/ESG
GS/16,76-110x87 5-VSG/ESG
GS/16,76-110x90-VSG/ESG
GS/16,76-110x92 5-VSG/ESG
GS/16,76-110x95-VSG/ESG
GS/16,76-110x97 5-VSG/ESG
GS/16,76-110x100-VSG/ESG
GS/16,76-110x110-VSG/ESG
GS/16.76-120x40-VSG/ESG
GS/16,76-120x50-VSG/ESG
GS/16,76-120x60-VSG/ESG
GS/16,76-120x70-VSG/ESG
GS/16,76-120x80-V5G/ESG
GS/16,76-120x82 5-VSG/ESG
GS/16,76-120x85-VSG/ESG
GS/16,76-120x87 5-VSG/ESG
GS/16,76-120x90-VSG/ESG
GS/16.76-120x92 5-VSG/ESG
GS/16,76-120x95-V5G/ESG
GS/16,76-120x97 5-VSG/ESG
GS/16,76-120x100-VSG/ESG
GS/16,76-120x110-VSG/ESG
GS/16,76-120x120-VSG/ESG
GS/17.52-110x80-VSG/ESG
GS/17.52-110x82 . 5-VSG/ESG
GS/17,52-110x85-VSG/ESG
GS/17.52-110x87 5-VSG/ESG
GS/17,52-110x90-VSG/ESG
GS/17.52-110x92,5-VSG/ESG

L (mm) 400 | 500 | 600 | 700 | 800 | 825 | 850 | 875 | 900 | 925 | 950 | 975 | 1000 | 1100 | 1200 GS/17.52-110x35-VSG/ESG
min.2430 4 1 GS/17,52-110x97 5-VSG/ESG
3800/1 4 1 GS/17,52-110x100-VSG/ESG
J800/2 . z 2 1 GS/17.52-110x110-VSG/ESG
I"_l = >
jg.?f . 1 - GS/17,52-110x120-VSG/ESG
e 1 5 5 GS/17,52-110x130-VSG/ESG
aTs 5 > GS/17,52-110x140-VSG/ESG
Max. 5890 1 a GS/17.52-110x150-VSG/ESG
= t
s t1 ;ﬁr t1 o
VSG Glass | 4.4.1 4.4.2 5.5.1 5.5.2 6.6.1 6.6.2 8.8.2 8.8.4 B8.8.8.2.2 =
ti 2xd 2xd 2x5 2%5 Zxb 2x6 2x8 2x8 axs
t2 | 0,38 0.76 0.38 0.76 0.38 0.76 0.76 1.52 2x0 76
t 8.38 876 10,38 10.76 12 38 12 76 16,76 17 52 25 52
Glazs FLOAT, ESG
t1 (mm) 4 4 5 6 i 10 12 15 19
Tolerance (+ mm) 0.2 0.2 0.2 0.2 0.3 0.3 0.3 0.5 1.0
Weight {I{g,-"mzj Ty 10 12:5 15 20 25 a0 375 47 5

12,76

16,76

17,52

1000

1100

1000

1100

1200

1100

500
700
800
500
950

1000
00
700
800
900
950 |

1000
400
500
600
700
800
805
850
875
00
025
950
975

1000 |
400
500
600
700
800
825
850
8rs
800
025
050
975

1000
1100
400
500
600
700
£00
g5
as0
875
900
625
950
L

1000
1100

1200 |
800
825
850
875
00
o5
950
g975

1000
1100

1200

1300

1400

1500 |

63






ROUND MODELS
FLEX

FIX

SQUARE MODELS
FIX

DOUBLE ADAPTERS
GLASS

SETS




(R a1

1110130

A/O742...

A/OT742-FLEX1 817,52 20
A/O746-FLEX1-B 6-12,76 15
A/0747-FLEX1-B 817,52 20

A/O747-FLEX2 ™=
A14/0747-FLEX2 A-PVD/O747-FLEX2 A-PVD/0747-FLEX2-L

satin A/O747-FLEX2

LUSIkiely  PVD black A-PVD/0747-FLEX2 s
VD blackcpoiih flat A-PVD/0747-FLEX2L 8-17.52 20 MEW
AlSi216 =atin A14/0747-FLEX2

I 0125

t:':l'w

A-BLACK/0747-301 FLEX2

satin A/0747-501 FLEX2

. A-BL/0747-501 FLEX2 42_47

maooos  flat  A-BLACK/0747-501 FLEX2 8-17,52 30
A/0747-502 FLEX2 3037

A/0747-503 FLEX2 S2-57

satin

'\\. LS
NS
2

42-50

A/OT42...

A%
NONN
ﬁl 10 4

@50

A/OT4T...

A/OT42-FLEX3 20
satin A/OT47-FLEX3
flat 8.17.52
A14/0747-FLEX3 20

polizh A14/0747-FLEX3-L

Al51304

AlSi31e




FIX

=atin
"BLACK
_RALO004
AlSI304 -
zatin
pelizh
AlSI316 =)

ZAMAK

flat

AlSI304
satin

AlSI316

flat

A-BLACK/0746-000

A/0746-000 .
A-BLACK/0746-000

A/0746-300 30 32
A/0746-400 42
A/0746-500 52
A/0747-200 29
A/0747-300 o 32
A/0747-400 42
A/0747-500 52
A/0746-000-L

A14/0746-000 01
 A14/0747-300 50 32
ZN/0746-000 0 15
A/0763-000 30 61276
A/0764-000 40 817,52
A14/0763-000 30 612,76
A14/0764-000 40 817.52

MEx40

MExB0
MEx100

M10x70
M10x30

MEx40

M10x70
M8x40

FATOXS0

15

ZMN/0746...
AEW
6-127/6 13 1S
8-17.52 17 20
6-12. 76 13 15
817,52 18 20
6-12.76 13 1S
Glass t
o5
[,
——
i _E O
1=
TR
it

r 10 Glass t
RAL A
) o ff&;' [
. 1 bt _.-l'" 1
= A )
= A o]
5 by =
_I'-I-;Ell - L -[F B
) § .
AN |
77
A-BL/0747-000 A/O742... A/O747...
A-BLACK/0747-000 A/0748... A/OT48...
A-PVD/0747-000 ZN/O747...
A/0742-000 40 M10x100 18.5 20
=atin A/0747-000-5 50 MEx45
A/0747-000 {of
PVD black A-PVD/0747-000 17 AEW
Bﬁtgggﬁ A-BL/0747-000 20 Milzds Aew
BLACK f‘ ﬁ".l'
R T :-2:12::?-00.: 50 M10x100 RelRe 18 20
o A/0748-000 70
polizh A/0747-000-L M10x45
asizic T A14/0747-000 o 17
AEETE A14/0747-000-S MExdS
ZAMAK ZN,/0747-000 M10x45

Glass 1

e |

vkl

A/OT47...

RAL LINE
UMAKOV

67



FIX

h Glass 1
h , . Gloss t
|
I L ! i
&
b t /ﬂ w0
1 | o - - — o
—| =
= 86 : 8| &
—d
x>
[ 7777777 ¢ |
A/OT746... A/O742...
337 A/O7486-033 13 MExS0
AlSI304
~ satin A/0746-042 15 M8x40 612,76 15
Alsi31e 42 4  Al14/0746-042 15 MEx40
AlSI304 _ A/0742-042 10 MA0XAD 817,52 22
10 Glass 1 Glass 1
| ———
—l-li IJ—[L--|:7 ,
| | s 7 o\
N @ EK‘
2 = f Lo
L] Ly
é =t o i ) t——— ¥ _ - \ o (]
2 = s ] Y \ =
] PR H s
N
’
k f 1
A/0747... A/0749...
A/OT748...
) =1F ala A14/0747...
A/OT747-242 50 20
AlISI304 A/0749-042 &0 22
=a 42 4 817,52
S A/0748-242 70 m
AlSI316 A14/0747-242 50
—eo—>
27(40)(50) Glass T

EEE] satin | fat  A/O742-FLEX 81752 22

68



FIX

glw |
1= =1
2
R 2
12.5
EEEY i worse i
E—-ul--
3 =t
- ?. I
qjl._ / o 7
A = s o
— =
= : t O - a
7 7
g R
! A L 10
A/0747-plate A/0742-plate
 A/0742-plate 40 387 M e
A/0747-plate 50 487

@13

h ]

A19/47-Black

" black A19/46-Black —
Rubber -
| white  A19/46-White black
Rubber
white
= |
R
N
-5
= Ef o
- ] I
/] )
e .
3|
- A/..-000

A/ST736-242-M10

10.5

NA\Ez

= | Q
= - ’,.-"" a
%
97
]
Fi
A/0746-front
19
H
]
N 3
s = S
= ..}',.-' ,.r"" “a
| BN
.-f'l. /4
15
_A/07474ront 10
A/0747-5front g
©
A19/47-1-White ||_QJ'
A19/47-Black 17 105 14
A/O747-...
A19/47-1-Black 25 145 22
A19/42Black 38 6 185 _ 145 A/O742-.
A19/47-White 17
; A/O747-...
A19/47-1-White 25 14,5 22
L V
D
?.J-,-*'.'
@
33,7x2  A/33,7x2-22-000 -
= A/42,4x2-22-000
42,4x2  A/42,4x2-35-000 35 | sew
A/42,4x2-45-000 45
33,7x2 A/33,7x2-22-042
42 4 22
42 4x2  A/42,4x2-22-042

69



SRS | EX

“ [

Quality  Finizh o art. glasst glass hﬂle__!

AlISI304 B+, flat A/O745-300-FLEX1 8-17 52 18 |

NIODER Fix

‘ B

| Quality  Finizh art h glasst glass hole

o ~ A/0745-300 30
fl n
AISI304 _ it Gt s o, 817,52 18

Glass 1

WT0xT00

.o .0 av.ar i
'@16
A0 40

&
=
e
=
%
3
)

M10x100

A/0745-D30

Quality Finish art.
Mu?#m A,l'rn?drﬁ-...

SEASSINSEESEN 16,76

— i @25
B
. -‘?“1‘92_,5
.*

Quality art. i
GS/16,76-98x100-VSG/ESG 980 4
GS/16,76-133x100-VSG/ESG 1330

GS/16,76-108x100-VSG/ESG 1080

GS/16,76-143x100-VSG/ESG 1430




8-1752

b

-
D40

\
1~ [}

[EELY =atin  A/2740-000 18

J;

130
200

2_
m Safin| A/2747000 ol
D 10
1 —
Tfﬁl—[ =
D11
)
\& %I :
XM
]
:
\' Y i ®

| =atin A/2746-000 plate T1I0mm 40 190 8
S A/2747000 plate TIOmm 50 200 10

®

——
50

142

®

LT

30.5 89
T
192] 31

50 37

EEEH satin | A14/3000000 e

71



o
-
-

'I
--
=
=
=
-
e

i

=

=

L




ROUND MODELS
FLEX
FIX

ELIPSE MODELS
FLEX

SQUARE MODELS
FLEX
FIX

POST MODELS
GLASS

SETS



6100 STATIC STUDIO

_.@45-_ GLASS 1 =
J RUBBER /__‘“\ l %
BLACK N ﬁ
=9 un
| g
""'-., I_I,-':_ % %
s + - —i%
ZNm = 2
%
E i":' T * I:l!'_-E'Ell.I|||I:||_,|'I':| -
E- o I—-_i DM 7581 ME [
==, | 1 | |
AlSI304 A/6100-000-B P11 L D98 J
=atin A14/6100-000-B 0, SkMN 3 12-17,52
AlSI316 !
pelish A14/6100-000-B-L
@ 50
- | |

17

B =

AlSi304 A/0312-050
— =11
AlSI316 A14/0512-050

G®» T
L

: — !
pss || 1
@ 100
360
m natural Q10/ANGLE-0-2-100 @i/
6500 +1,5°
K__-I-_,\H,?&-EI.EE
{1
7 u
::%* _|i.' - cpecr e e
| 1
£ ,
A/8500-000 A-BLACK/6500-000 - l
: \
satin ?Afssuu-uuu | . Z N /
BLACK . 1kN 3 a% ] !
malacns A-BL/6500-000 | D12 | | o
120

74



STATIC STUDIO

_ 50 50
GLASS t ‘
i
i b
RUBBER e 1Y) (4 2
BLACK ¢ 1 A | %
T e || 3
' . T, ﬁ/ %
| Ak % | %
RAL Lt =7
il s oy 7 B %
i 3 7 /
i 106D ’ o g
I-;’ = ‘ cmibedding u:':'
A14/6210-000 e 8200-000-C A-BLACK/6200-000-C DN 7921 Ma |
__ O] | | & : ]
=atin  A/6200-000-C
AISI304 S D 11 L O 98.5 _l
BLACK  a_BI ACK/6200-000-C AEW
=atin  A14/6200-000-C 0.5kN 3
191752
INSER Ll polish A14/6200-000-C-L
=atin  A14/6210-000 e
=atin  A22/6200-000-C O,2KN 2
) o
|
= =)
I__ 0105 _J
| A14-BLACK/4511-050-B
=atin A14/4511-050-B
INSEVCN polish A14/4511-050-B-L 51,5
rarach,  A14-BLACK/4511-050-B AeW
GLASS T
@12
@12
;@/ I
Ly
=1
o
©
|
e I
% 2
= I y - .__. 40 35 || b
> yzmnce i | l
D11 L 0100 J
m satin  A/6200-000-B O5kN 3 124752 15
I__L
[
PLASTIC
. BLACK

3
-
| ! 3
1
A D11 0103
A14/6220-014 12,0-13,5
AlSi31e satin 0.25kN* 3
A14/6220-018 16.0-17.5

¥ for use only with anchored cap rail

[&°)



almlala
6300

®17.5 % |
325

]
__I @105 l__
Quality Finish art. Glazs Glass hole |
Al4d/ 6300-000 GS/16.76-... 20
0
Q
o
(o
)
8-17.52 o
|
ir-.-— I:I
i
1
1
32
i
X
I y o
L A
0
e m
a 2
| I |
O94
Quality Finish art. Glaz= Glazs hole | : Quality  Finish art. Glazs Glaszs hole |
A/ 6400-040 GS/16,76-... 20 ‘ Af 6400-040-plate GS/16.76-... 20 ‘

- BERE

25
h
220 225 150
H ot s
150 150
| | “[e25 || “Tez2s =
|
art. a glass hnle:%
GS/16,76-98x100-VSG/ESG 920 5
GS/16,76-133x100-VSG/ESG 1330 & 76
GS/16,76-108x100-VSG/ESG 1080 ’ .

GS/1 E,?E1ﬂ:-IWMEEE 1430

76



SNBBER 100 53

. 2x1200

art. G/h glazs

GS/FRB8-120x100-6100-6 O 5kN 16,76 VSG/ESG

MVIGBERN 6200 K1)

art. G/h glass t ‘

!
GS/FRB-103x120-6200 0O,5kN 16,76 "IISG;’EEGE

* handrail is not included, but it is recommended in this SET.

|

art. G/h glass

GS/FRE8-120x100-6200-6 0 5kN 16,76 VSG/ESG

[



']
L
L

o el e T . & .



GLASS CONNECTORS
ROUND MODELS

GLASS CONNECTORS
SQUARE MODELS

HANDRAIL HOLDERS
FOR GLASS



4
4
o
=
=
o

Pz

80

b=12.76

27 23 pij
L.
=
\‘ el e -J
| 107 |

Quality Fimish art.

ﬁﬁ'—' . f
“ ’ Test
A19/04-PVC

A14/2500-700

1x Gdmin

|= A19/25006  A19/25-008

glas=t

8,76 10 10,76 12 12,76
A19/25009  A19/25010  A19/25011  A19/25012  A19/25013

Quality Finizh art.

F‘ Test

A19/04-PVC

A14/2500-800

1x Gdmin

glas=t

8,76 10 10.76 12 12,76

A19/25-006 A19/25-008

A19/25-009 A19/25-010 A19/25-011 A19/25-012 A1/ éE—D‘i 3




BUODERN 0746

8-21,52

7

@30

@13
- oy y

';l-'l -]I'i" i = oy e Hln:; . -
Juality Finish art. included glass t
hole

A-DIN 813-A2 M8x16 88 76
A-DIN 813-A2 M8x20  10-12.76
A-DIN 813-A2 MBx25 13,52-17.52
A-DIN 913-A2 M8x30  20,78-29,52

AlSI304 BEERTTY 15

SMOBEIN 0747

12,76-21.52
i

@17

3
=

Quality  Finish art glass hole

AlSI304 A/O747-5-SET 20

81



o
]
17519 _ 17.5_ =
o
] Ill (
|
14 510
e
I"j ‘ | ==t
(AIEREE  satin @ A14/230P-700 1x Gamin
glass t
I & 6.76 5 8.76 10 10,76 12 12,76
A19/23-PD6/KD8  A19/23-PO7/KDS  A19/23P08/K10  A19/23-PO9/K11  A19/23-P10/K12  A19/23P11/K13 A19/23-P12 A19/23-P13
plate t
1,5 o 3 4 5
A19/23P1,5/K3.5 A19/23-P02/KD4 A19/23-PO3/K05 A19/23-P04/K0B A19/23-P05/K07 |

45

[1K]

o B B

53 15 | 17,5 &

i

Ir/"'

W 210

ONO,

=atin  A14/230P-900 1x Gdmin

AlSI316
glas=z t
l 6 6.76 8 8.76 10 10,76 12 12,76
A19/23-PO6/KD8  A19/23-PO7/KD9 A19/23-PO8/K10  A19/23P0OS/K11  A19/23P10/K12  A19/23-P11/K13 A19/23P12 A19/23P13
| plate t |
15 2 3 4 5

A19/23-P1,5/K3,5 A19/23-P02/K0D4  A19/23-PO3/KOS  A18/23-P04/K06  A19/23-P0O5/KO7

(o725

8-21,52

7 *
)
| N

P

glo| Y T
glsl N
Kh A
BN ,r:-/*"*»~~
N N
,-—"'/ AN

L
reliie] e
INGIUdSC \

A-DIN 913-A2 M8x16 8-8.76
= A-DIN 943-A2 MEx20 1012 78
satin A/Q745-SET 15 A-DIN 913-A2 M8x25 13 59-17.52

A-DIN 913-A2 MBx30 20,76-21,52




Q77

I ]
3
g = - :;--
L= 48
& *:E&“;
B 7 e 5 I
m =atin A14/0771-000 16,76 - 21 52
55
AE 25
Ell
1 .
) @
[ L b
1&.74-31.52
40
m satin A14/0773-000 16.76-2152
o6 G
I I
Ij EI _ IE.
I I I
103 iy
m =atin A14/0772-000 16,76 - 21 52

16,76 - 21,52

A14/0774-000

AISI316 B-Fi)]

; } -
|
g
E
AlsSi31e satin A14/0771-015 12-15
55
2R
3
; i
f:'r ¥ o
— u 1200 - 0g
LT
@ satin A14/0773-015 12215

@ satin A14/0772-015

kRl satin | A14/0774-015

B 6.5

pere—

a2

&9

14

12-15

1,00 - 15,00

af

;h:.:ﬂ

12-15

N n]

Y2

83



FLEX

= D5-0

25

1

el

ﬁq T
B=F 777

20

satin A/0155-000

63

D14

ur
L
=

et
A

A/0155-042-B

o
=]
m
i
=

satin

I

8- 0t ..4
__ o

o 7 7 7
3 | gz

| "]

-

(ot}
a2
=4 TP K

82

10-18

s

R s
2

63
—]
I @14

hh..-;:
S

2x@5.5

20
-
20

A14/0155-042

AlSi31e

84



FIX

64 24
— ™ " R o
= [ 2x®6.5 !
| 8-18
- B 12 Bl o
3 ] = B I
i 90 -
m =atin A/0156-000 20
. - 64 - b4
- = —

0

F

e
=

a0
i -
\H
M“-.
) 1
msaﬁﬁ _'_Afgtsa-mz 20
64
_ B ai e
= _— E:I ﬂ; -
- ' [ 2x® 6,5 if -}
8-18
@12 N
| N
N
O P ’
8| !

m:__ﬁaﬁn A/0156-048 20

85



L lrr s ]
R N . R
e a

- T R o S e
o P PSS-S

k]
. ==

| R—




ROUND MODELS
LED

SQUARE MODELS

CAP RAIL RUBBERS

CAP RAIL FITTINGS
END CAPS




oy
\ l_\ *®
ﬁ ]
VR
A4 24
B ':Ildii.d o EPDM - axteriaer
- A19/5042-08-2500 2500
A/6925-042-1250 1250 e s ol 80110 22 2 2000
A19/5042-08-6000 6000
_— A/6925-042 2500 A19/5042-11-2500 2500
- A/6920-042 c000 | o A19/5042-11-5000 11.5-13.5 25 45 5000
satin y A19/5042-11-6000 6000
A/6921-042 &000 Rubber {ﬂggj; A19/5042-16-2500 2500
A19/5042-16-5000
e ' A14/6920-042 5000 e 16.0-17.5 215 42 gggg
polish A14/€6920-042-L =000 A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000 20 76-21.52 24 35 5000
| A19/5042-21-6000 5000
I Hbber A19/5042-G-16-2500 2500
Rubb gray . :
interier (neren  A{9/5042.G16-5000 10:0-17.5 21542 500

1
= |/r—-
By i .l
/ Z 2
/ £ 7= >
» Al = i,
‘e 5
& a
=
_ 1
AGELEY  A/6732-042 1ofr AISI304 ~ A/6790-042 1od
R . satin '
AISI316 A14/6732-042 AlSI316 A14/8790-042
]
uy
. -
b Al g
a
&
[ ]
—
AEEDE]  A/6313-042
INSESE] = A14/6313-042
30
I
¥ o
.-l—.-l_ _".;_i
B ] E
| =t
-
1 [ T —

TSk ] =atin @ A14/6303-042

88



BVIOBEIN 42, 4x1,5

D42,4x1,5

Quality Finizh art. I
AISI304 § ~ A/6302-042

MRl " A14/6302-042

D 42,4x1.5
|

| Quality  Finish art.
AlSI304 - A/6312-042

NGk ] A14/6312-042

@ 5,5

Finish

art

A14/6505-042

Quality
INSESl  satin

@ 8.5

L ]
]

Tt

< @
- Paz.a5
u P
£
&%}F

Quahty Finizh art |

R sstin At4/e727082

89



42 .4x1,5/AL

silver

: black
ALUMINIUM salin ‘

silver

black

ALUMINIUM =atin AL/6732-042

b

-

[,
(]
i
(Y]
2
EPDM - extariar PVC-P - intariar
@ 42,4
A19/5042-08-2500 2500
A19/5042-08-5000 80-11.0 05 = 5000
AL/€925-042-5-E - A19/5042-08-6000 5000
A19/5042-11-2500 2500
AL/6925-042-S-EB
L/ A19/5042-11-5000 11.5-13.5 o5 A5 5000
AL/6920.042-S.E A19/5042-11-6000 6000
6000 Rubber {E:ﬂ::ﬁ: A19/5042-16-2500 2500
AL/6920-042-5-EB A19/5042-16-5000 5000
A19/5042-16-6000 16.0-17.5 215 4.2 505
A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000 20 76-21.52 24 3.5 5000
| | A19/5042-21-6000 6000
Rubber gray A19/5042-G-16-2500 2500
interier | (interier)  A19/5042-G-16-5000 IE-1ix Fha 52 " eann
17 23
7 - f//////f;FFF; e
Q| <L - 8 <
= = - g
=
L ——
I o
ALUMINIUM  =atin AL/6790-042
33,8 30
-|—|—-|

o
-

|

33.8

ALUMINIUM  =atin  AL/6313-042

90

@ 42,42

—
=

ALUMINIUM  =atin AL/6505-042

3x@ 4.5

::::::::







%

]
cl 30
L]
1 # 27 Ry
® 483 EPDM - axteriar
A/6920-048 5000 A19/5048-15-5000 15 0-17.5 S000
AlSI304 bber Plack a49/5048-22-2500 T
AleRzS048 200 Rubber  P'ack / 20.0-20.5 2500
A19/5048-26-5000 24 75-25 52 5000
A14/6920-048 5000
AlSI3ie
A14/6925-048 2500
-
—I_ . E—
| f W .r L!'.:l
{ = %
_ 3 -
@ £
= =
- =
EEEY] satn  A/6790-048
30
A
w
\ A x
¥ %
=T
=)
¥
[
=

i

3@ b5

30




m satin A/6920-080 =000

2,4

Rubber

| Rubber  gray A19/5042-G-16-2500
interier

EPDM - gxisrier PVC-P - inferiar

A19/5042-08-2500
A19/5042-08-5000 8.0-11.0 29
A19/5042-08-6000
A19/5042-11-2500
A19/5042-11-5000 11.5-13.5 o5
A19/5042-11-6000

{E:::Itgn‘;ekr] A19/5042-16-2500
A19/5042-16-5000
A19/5042-16-6000 16,0-17.5
A19/5042-16-30000
A19/5042-21-2500
A19/5042-21-5000 20 762152 24
A19/5042-21-6000

21,5

mterier)  A19/5042-G-16-5000 10:0-17.5 21,5

-t

20

375

17

-
\

D 42,4

WE/6925-042-17
| WB/6925-042-17-CINK
' WD/6925-042-17

WD/6925-042-17-CINK

e

C NEUTRO l'! J

Q9/03-3x12 Q5/05TR-310

4.5

4,2

3,9

4.2

2500
=000
6000
2900
=000
6000
2500
5000
&000
20000
2500
=000
6000
2500
S000




94

s010115

\

A/6925-040
AlSI304 A/6920-040
A/6921-040
AlSI316 A14/6920-040
"-~__‘ =
AlSI304 _ A/e732-040
i m ! .'"‘

AlS1316 A14/6732-040

.

>

IV kS =atin  A14/6303-040

AlSI316 Hallu A14/6302-040

u
# =
=5
£
t._.-'q 24
40 =
2500
5000 |
6000
5000
=
—
5 s
] &
] 2
=
/
— i R |

30

40x40x1,5

40x40x1,5

EPDM - sxtariar PVC-P - infariar
= = A19/5042-08-2500 2500
A19/5042-08-5000 8.0-11.0 00 5 5000
A19/5042-08-6000 5000
A19/5042-11-2500 2500
A19/5042-11-5000 11.5-13.5 25 45 5000
A19/5042-11-6000 5000
Rubber {Ej:gjﬁ A19/5042-16-2500 2500
A19/5042-16-5000 5000
A19/5042-16-6000 16,0-17.5 21 4,2 6000
A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000 ©20.76-2152 24 35 5000
| . A19/5042-21-6000 5000
Rubber | gray A19/5042-G-16-2500 2500
interier | (interer)  A19/5042-G-16-5000 18,0175 21,5 .2 5000
4
= - =
" NININNIN
— NIRNNIN 9
- g
=
| -
AlSI304 A/6790-040
AlSI316 ' A14/6790-040
30
-l——-l
|
Ly
| P N
>
=
. I_
b
5

AlISI304

AlSI316

=atin

s

A/6313-040

A14/6313-040

£

)

40415

AlSI316 Eﬂill"l Al14/6312-040




50x40x2/AL

Ll

|
P ! ¥ EPDM - exteriar
24
Lo

A19/5042-08-2500 2500

e i A19/5042-08-5000 g Q.110 22 5 5000

jiE o A19/5042-08-6000 6000
AL/6920-540-5-E e000 A19/5042-11-2500 2500
ALUMINIUM  =atin A19/5042-11-5000 11,.5-13.,5 25 4.5 2000
black AL/6925-540-5-EB 3000 _— A19/5042-11-6000 6000

= [ aC
Rubber =k A19/5042-16-2500 2500
{ext )

AL/6920-540-S-EB 6000 ) o
A19/5042-166000 601> 215 42 04,
A19/5042-16-30000 30000

A19/5042-21-2500 2500

A19/5042-21-5000 20762152 24 35 5000

— A19/5042-21-6000 6000

Rubber A19/5042-G-16-2500 2500

T gray
interier | (rnwerien  A19/5042-G-16-5000 10.0-17.5 215 42 o0

&5
25
—[ s e - | |
g |
) . PR XY KT
S 3
i
3 E
L
] g r
!nmmmuu =atin AL/E732-540 50x40x2 ALUMINIUM  satin  AL/6790-540 SOx40x2
29
S
" wﬁ . - —
_—— i Q
=
o
| ..H'H"“\_H_‘_\%
I : -
ALUMINIUM  satin  AL/6313-540 50x40x2 ALUMINIUM =atin  AL/6505-540 50x40x2

95



fsoiorrs

A/6920-640
AlS1304
A/69235-640
A14/6920-640
AlS1316
A14/6925-640
‘.‘.ﬁhﬁh ="

IUSERR  satin A14/6732-640

!j i ]' ~
-5

PVC-P - interisr
A19/5042-08-2500 2500
A19/5042:08-5000 g8 (0-11.0 22 5 5000
A19/5042-08-6000 6000
A19/5042-11-2500 2500
A19/5042-11-5000 115435 25 45 5000
A19/5042-11-6000 6000
A19/5042-16-2500 2500
A19/5042-16-5000 5000
A19/5042-16-6000 16,0175 21,5 4.2 8000
A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000  20,76-21,52 24 35 5000
A19/5042-21-6000 6000
A19/5042-G-16-2500 2500
A19/5042.G-1e5000 90175 215 42 oo,
o
| |

[Q\ ™

/

[

&0x40%1.5

—_—

(\EES] =atin  A14/6790-640

e
T ¥ ]
=
o
{'q,l
— .
. e EPDM - exterier
. &0
5000
2500
5000 black
I_:Ilulhhﬂ‘l' 121135&:!
2500
E.i-ihﬁiﬁr_ gray
gr!tgngt_ {interier)
il
] ]
_I,.i
(T ]
g =
s o
!
2
1
33
=
bt
i | V. N =
YY1 3
]

- -
&
M' =atin  A14/6313-640
40x40/WOQD
—
K
. » xmm——
& NEUTRO = LY
— — M Q9/03-3x12 Q5/05TR-310
17 -
e 40 N
WB/6925-040-17
WB,/6925-040-17-CINK
5 2500
WD, 6925-040-17

WD/6925-040-17-CINK




\\
A\

e

=



MODEL ._ 18x12x2

o
R2.5
18 : :
— Q5/05TR-310
| Material  Finish .E:f-f:-:i: art. L gi::: bl
AL/6901-014-3000-5-E 3000
ELOX b5
AL/6901-014-8000-5-E
L _l 8000 13,52
Black ~ Ot '
Flou AL/6901-014-6000-5-EB
o
R2.5
18
|
Material Finich Effect art. L glass
ELOX AL/6901-014-G90-5-E
' ooo0 .12 | ew

Black a1 /6901-014-G90-S-EB R

Elox

]
&
o
O

MSIBEEN 22x0x2

==
2 [— ~
— Loy, e

. 5

21.4
Q5/05TR-310

Material Finish Effect art. B glass t
AL/6901-017-3000-S-E 3000

ELOX | _ 18.76
AL/6901-017-6000-S-E 6000

98



MODEL | 22x16x2

R o
~0
| 22
Material Finich Effect art. L. glasst R
A/6901-018-2500 2500
silver 5
A/6901-018-5000 2000
A/6901-A-018-2500 2500
silver 16- 5
A/E6901-A-018-5000 2000 17 59
AL/6901-018-3000-S-E 3000 Zaﬁu
ELOX 1
AL/6901-018-6000-5-E 1
: s000
black a1 /6901-018-8000-S-EB
R3 o~ R3 m&
i I___i___i
* 0 | ;| 22
— | o
|
| |
B S
Material Finich Effect art. L glass Material _ Finich art. L glass

new

AISI304 EET -
AISI304 siver A/6901-018-G90 = satin | A/6901-018-CAP 200 16-17,52

ELOX AL/6901-018-GS0-5-E 200 16-17,52 | MeEW

E‘E'ﬁk AL/6901-018-GO0-S-EB

MICIBEEN dx10x1

RI1,75 2

‘10

d Q5/05TR-310
s
Materia Finizh Effect art. 1l b d glaz=t
| MEEUE-ﬂ‘H}EEﬂﬂ 135 175 13,52
A/6902-018-2500 2500 17,5 215 17,52
A/6902-022-2500 21,5 255 21,52
silver =

A/6902-014-5000 135 175 13,52

A_.j"ETQUE-D‘IEFEDU_D - 5000 1;,5 ET,; - 1?,1—'.—-_2 |
A/6902-022-5000 21,5 255 21,52

99



ALUMINIUM  satin

m =atin A/6900-024-G90

26x20x2

; Q1 s
K |
1l Q -
By O
- MNEUTRO I 1
. . 26 Q9/03-3x12 Q5/05TR-310
AL/6901-022-3000-S-E 3000
ELOX
AL/6901-022-6000-S-E 20-21,52
- 6000
black AL /6901-022-6000-5-EB
R1 o~
o
~
26
i —
ELOX AL/6901-022-G90-S-E
s 200 20-21,52 HEW
Cioy AL/6901-022-G90-S-EB
28x26x2
R o
e W\
=0
o
i 55
EPDM - sxtensr PVC-P - inferiar
A19/5042-08-2500
A/6900-024-2500 3 A19/5042-08-5000 8.0-11.0 00 5
A19/5042-08-8000
A/6900-024-2500-EXCLUSIVE 2500 3.5 A19/5042-11-2500
A/6900-A-024-2500 oo 5 A19/5042-11-5000 11,5-13.5 25 4,5
7 A19/5042-11-6000
6900-024-5000 3
£ Rubber Plack  49/504216-2500
A/8900-024-5000-EXCLUSIVE 5000 < A19/5042-16-5000
A/6900-A-024-5000 5 A19/5042-166000 160175 21s 4.2
A19/5042-16-30000
A19/5042-21-2500
A19/5042-21-5000 20.76-21,52 24 35
| _ A19/5042-21-6000
Rubber o A19/5042-G-16-2500
interier (menan  A19/5042-G-165000 16:0-17.5 215 4.2
o
%ﬂ/ R3 Hl
>
f’ ‘ Y= =y
= | :
0 = I !
= ! i =
i : i |
"'-u.._HH‘_ . i
H”‘ﬁ-h : :
T il 55 W | : o/ |
| — . - S
200 894 3 sew m satin  A/6900-024-CAP 200 8-24

2500
2000
6000
2500
2000
6000
2500
2000
6000
30000
2500
2000
6000
2500
2000



| l
)| i
o L.
v &
I |
EPDM - extensar PWVC-P - internsr
-
A19/5042-08-2500 2500
A19/5042-08-5000 8.0-11.0 0o 5 5000
A19/5042-08-6000 6000
| ) AL/6902-024-3000-5-E 3000 A19/5042-11-2500 2500
ALUMINIUM =zatin  ELOX 821,52 W A19/5042-11-5000 115135 a5 45 5000
AL/6902-024-6000-S-E 6000 A19/5043-11-6000 6000
Rubber {E'l!‘:n‘?:‘;] A19/5042-16-2500 2500
A19/5042-16-5000 5000
A19/5042-16-6000 16.0-17.5 215 42 e
A19/5042-16-30000 30000
A19/5042-21-2500 2500
A19/5042-21-5000 20.76-21.52 24 L 5000
| A19/5042-21-6000 6000
Rubber  gray A19/5042-G-16-2500 2500
interier | (interien  A19/5042-G-16-5000 1©:0-17.5 215 4.2 5000

A/6902-024-GO0 AL/6902-024... al/

m satin A/6902-024-GS0 AL/6902-024.. Jv.&l/

0
|

\

J j O NEUTRO

—/

1 Q9/03-3x12 Q5/05TR-310
=g Py —
A/6903-014-6000 16.5 12-13,52 1,75
A/6903-018-6000 20,5 16-17,52
6000 MEW
A/6903-022-6000 24 .5 20-21,52 2
A/6903-025-6000 28,5 24,76-25 52

e

—
S a
— |-l -

A/6903-014-G90 16,5 12-1352 1,75 A/6903-014-CAP 16,5 12-1352 1,75
A/6903-018-G90 205 16-17,52 A/6903-018-CAP 20,5 16-17,52

200 AEW satin 200 W
A/6903-022-G90 245 20-21,52 2 ~ A/6903-022-CAP 245 20-21,52 2
A/6903-025-G90 28,5 24 76-2552 A/€6903-025-CAP 28,5 24,76-25,52

101






LED HANDRAILS -
ROUND

LED HANDRAIL SETS -
ROUND

LED HANDRAIL SETS -
SQUARE




104

50/AL/LED

. o 22
-3
m
Q m
245 [
-@‘.
| zilver AL/6920-050-LED-S-E
ALUMINIUM e 6000
: black AL/6920-050-LED-S-EB
28
17
™ TN |
- =t
[T U
2 =]
1
ALUMINIUM  satin  AL/6732-050-LED
51 =
R
B 0
| - —-'i:fﬁ %
| ' = 0l e
"\ A | |
'J"" EZZZJ'Z
T

ALUMINIUM  satin @ AL/6313-050-LED

EPCM - extorisr

Rubber

Rubber
intariar

ALUMINIUM

black

{exterier})

gray

{interier})

satin

EH‘EI‘I

.'l-l-\..

PVE-P - inferiar

A19/5042-08-2500
A19/5042-08-5000
A19/5042-08-6000
A19/5042-11-2500
A19/5042-11-5000
A19/5042-11-6000
A19/5042-16-2500
A18/5042-16-5000
A19/5042-16-8000
A19/5042-16-30000
A19/5042-21-2500
A19/5042-21-5000
A19/5042-21-6000
A19/5042-G-16-2500

8,0-11,0

22

11,5-13.5 25

16.0-17.5

21,9

20.7e-21.52 24

A19/5042-G-16-5000 16.0-17.5 215
20
emt— " |
)
o
Ly
T ©
¥

AL/e790-050-LED

AL/6505-050-LED

4.5

4.2

B

4,2

Ix@D4,5

2500
=000
6000
2500
=000
6000
2500
=000
6000
20000
2200
5000
6000
2200
5000

30




S ==
W
—
S000K
Quality Finish 7 art. A/6925-042 LEDV24x24-24Y YEM/2x0. 75-SET A14/4114 0421 FD A/G732042
4 . 1x 1x
ko8 =atin 42 4x1.5 A/6920-042-LED-2500 (2500mm) (2500mm) 1x 3x 2x
i v - A art. Lim)
Quality Finizch Color art. L axh P Lumen Power Valtage  =luegj= 2 m—e m— -
FAN (N YEM/2x0,75-SET 0,75

white S000K LED/24x24-24V 25m 24 x 24 IP40/IP65" 120Im/m  8W/m 24VDC v

SILICONE
" IP&5 using silicone end

art. t b L B
09/0302x0 02 3 50 A/GLUE-50g-C s0 |Tof

| @

. Q9/03-0,5x9 05 9 33

A/6732-042

4
&
O
Z
a
|

A/GLUE...

A14/4114-042-LED

(for mount on wall) —— YEM/2x0,75-SET

105



:
g

SMOBER ROUND

Material Effect

Lluality

.
=T
Rl ba

!:.'l'l-.*'-_:!'l ’ ary

satin 42 4x1.5 A/6920-042-LED-5000-S1

e

Al /973 .-]--'~|.'!1'._=r_':- I 'i:L",:'l.:'h | FI "'-‘-IJ-I.::.'j.‘.”-
1042 ALS2 f._f_r_' ot A $is .E_ A |2 A/O112-000

. ol I' -I' ] 1A
O00-LED-B il i iy

A/ED2(

1x 1x

(5000mm)  (5000mm) oX 1x ax 2x

24

L |

AL/23x24-5000-LED-SET 2000 ‘

| |
¥

Matarial Effect

art.

A14/PD-LED-23x24

4=

20x% 1x 1x

LAuantity

23,5
_\ﬂ
_/Ll

14

23.5

Quality Finich art ‘

Black A19/PD-LED

A/6920-042

A14/PD-LED-23x24

A-DIN 7380-A2 M5x12

/23x24-5000-
LED-SET

f_‘!!'. A14/0112-000-LED-B

A/6920-042

A/6732-042

A19/PD-LED

A-DIN 7991-A5
M5x10

= Q9/03-0,2x9
W AL/23x34-LED-SET
A14/0112-000-LED-B %

106




MISREER SQUARE

AL/23x245000 A14/PDLED-
LED-SET 23x24

Quality  Finish art ASB920-040

; g 1x
40x40 A/ 6920-040-LED-5000-51 (5000mm) (5000mm) S5x

A/A111-000-LED A/4732-040

ox 2%

~=

m
'.

art A DN T3I80-AT MSx12 A-ORILL-BAS L
5.3 . Cuantity - 20x 1x 1x
Y a1 IR |
b i
o~
4 - 23 -
| Material Effect art. L
Bl oo oo
ua
R
&5 |
43
@10 4.

pre :9 @ | B

3 W

&

20
Material Effect art. Quality Finich art.
A14/PD-LED-23x24 PVC | Black A19/PD-LED
A/6920-040 A/6920-040
A-DIN 7380-A2 M5x12
A/6732-040 A/6732-040

L/23x24-5000- A19/PD-LED

A14/PD-LED-23x24 ' x;__%q LED-SET
A-DIN 7991-A5
A/4111-000-LED M3x10
A-DIN 7380-A2 M5x12
A/4111-000-LED

Q9/03-0,2x9
~ AL/23x34-LED-SET

!
&
o
<
o
=

107



1;
-
[}
g
oy .1_ b 5
o 75
A14/0112-000-LED-B A14/0112-000-LED-B ..0112-000
AISI316 A14/0112-000-LED-B
I ELES  satin | A/0112-000
AlSI316 A14,/0112-000

&4
‘ 43 \ 24
e — | I—-—-—I
= 1 S AT I ey
| - Il | 2x®6.5 )
s
o
] 3x P 6,5 gt || o
; 'llr— — ; i £
K :E AT A ] - 1| |
b (3 | : ] 0 !
- f \ an -
— : L) | D |
i I S ! /l 1 :
- @_,-" "
' 1 ] i

EEEZY =atin | A/4111-000-LED Q

|
s
1 %, ol I
al e
o :
0 , L
o] i e
4
o ]
i
BB satin  A14/4114-042-LED
44 = 24
43 | |
‘ | | w?| |
I | Il “F'JIL‘".H v
| 2x@65 Al
) D14 A
3 |1
B 2| 2z
| i
@ 42, 4x2

m =atin | A/0710-242-LED
108



Z

%

. kT s
AR

A gl e
A

e







Quality Finizch Effect art. Glazsz=t L

ey GS/FRBI0-100-BK-N-E 1000
GS/FRE10-110-BK-N-E ot

RAL7016 GS/FRB10-110-BK-ANTHRACIT

siiver GS/FRB10-120-BK-N-E Lﬁ:gﬁg‘ 1200
GS/FRE10-100-BK-N-EB 1000

olick  Gs/FRB10-110-BK-N-EB 1100
GS/FRBE10-120-BK-N-EB 1200

$1{44:

Accessories

37

Quality Finizh

AlSI304

| Quality

Finich Effact art. Glass t L

Ghar ' GS/FRB10-100-ZK-N-E 1000
GS/FRB10-110-ZK-N-E

RAL 7018 GS/FRB10-110-ZK-ANTHRACIT o9

silver -as,r_l:m%du-unaz_rtéﬂ-e- EE’ 1200
GS/FRB10-100-ZK-N-EB 1000

black  gs/FRB10-110-ZK-N-EB 1100
GS/FRE10-120-ZK-N-EB 1200

Accessories

& o

| Quantity |

1x pair 1x pair 1x pair

Nhha

3t

39

[
B
R
e
|~t:ﬁ|.|:uli1'.1..I Finizh art. Glazs Dimen:ian:‘!.
[\ESEGEY =atin | GS/FRB1-140x100-12,76 12,76 14ﬂnx1nnu!

111

-.,J

i
=
O
%
L
=
=
=




2
e

WS-Edelstahl &
Pflege-Spray E
:

4N

S

||~ -

’

=
s
e |
) - - -
: H
- |

# g Wb LS

Fce
e
oy - st

- " f. i T '|I e

B e R E
il by ol

Hh g pem e g i E——
R s e b

TR e e s e
e
M I

O ET I T

CLEANER &

for stainless rallings 500m|




' A-DIN 914-A2 M5x5

5 DIN 7991 M8x20-Zn 8 20
el A-DIN 914-A2 M5x6 5 6 DIN 7991 M12x30-Zn 12 30
raw  A-DIN 914-A2 M5x8 8 A-DIN 7991-A2 M5x12 12
A-DIN 914-A2 MEx6 6 A-DIN 7991-A2 M5x16 5 16
AlSI316 A4-DIN 914 M5x5 5 A-DIN 7991-A2 M5x20 20
| ' A-DIN 7991-A2 M6x8 | 8
A-DIN 7991-A2 M6x14 14
) A-DIN 7991-A2 M6x16 ] 16
= casly A-DIN 7991-A2 MEx20 20
‘m A-DIN 7991-A2 MEx40 40
“‘Nﬂu 110  A-DIN 7991-A2 M6x60 50
A-DIN 7991-A2 M8x12 12
~ A-DIN 7991-A2 M8x16 16
W ADIN 7991-A2 M8x30 8 30
EELZY ADIN916-A2 M10x14 R P T o
AISI316 A4-DIN 916 M10x14 TR =
A4-DIN 7991 M5x16 5 16
A4-DIN 7991 M&x14 14
A4-DIN 7991 MEx40 g 40
s A4-DIN 7991 M8x20 20
A4-DIN 7991 M8x30 8 30
A4-DIN 7991 M8x70 70
A4-DIN 7991 M10x20 10 20
A4-DIN 7991 M12x30 12 30
M raw | ADIN 6334V M8x25-A2 8 11 p
A-DIN 6334V M10x25-A2 10 13 %
.
DIN 7380 M10x20 8.8-Zn 10 20
A-DIN 7380-A2 M5x12
A-DIN 7380-A2 M6Ex12 L
A-DIN 7380-A2 M8x10 10
AISI304 A-DIN 7380-A2 M8x12 8 12
A-DIN 7380-A2 M8x20
 A-DIN 7380-A2 M10x20 10 20
AP - W A-DIN 7380-A2 M12x20 12
A-DIN 913-A2 M6x10 19 AN S80 Max = i 12
A-DIN 913-A2 M6x12 & T i Sl WA M B L 16
e b o AISI316 A4-DIN 7380 MEx12 5 12
A-DIN 913-A2 M8x20 20 i WY | B 55
DO 5 A RS = A4-DIN 7380 M10x20 10
AlSI304 A-DIN 913-A2 M8x30 B 30
A-DIN 913-A2 M8x40 40
A-DIN 913-A2 M8x80 80
A-DIN 913-A2 M10x12 12
=W A-DIN 913-A2 M10x35 10 35
A-DIN 913-A2 M10x100 100
A4-DIN 913 M5x5 5
' A4-DIN 913 M5x10 >
A4-DIN 913 M6x10 10
AISI316 ' A4-DIN 913 M6x12 6 A-DIN 912-A2 M5x20 5
A4-DIN 913 M10x12 1=  A-DIN 912-A2 M8x20 3 20
A4-DIN 913 M10x16 10 16 = ADIN 912-A2 M12x25 o5
A4-DIN 913 M10x55 55 A-DIN 912-A2 M12x35 12 35

M



stes]| 8.8 Zn

AlSI318 raw  A4-DIN 933 M10x30

steec| 8.8 Zn

AiSI31e

DIN 125 10-Zn
DIN 9021 10-Zn
Q5,/08-W-SHB-08/S
Q5/08-W-SHB-10/S
Q5/08-W-SHB-12/S
A-DIN 125-A2 M5
A-DIN 9021-A2 M8
_A-DIN 125-A2 M8
A-DIN 125-A2 M10
A-DIN 9021-A2 M10
raw | A-DIN 125-A2 M12
' A-DIN 433-A2 M12
A4-DIN 9021 M8
' A5/08-W-SHEB-08/A4
AS5/08-W-SHB-10/A4
| A5/08-W-SHE-12/A4

Al51304

AlISI316

114

DIN 233 M10x20 8.8-Zn

W-DIN 7991 M8x20-P

raw  W-DIN 7991-A4 M8x20-P

23
26
28

24

10 -

12
14

10

12

8.4

12
14

- EIS..

1,6

2.5

i

1

AlSI304

AlSI3e

AlSI304

AIS1304

AlSI3186

A-DIN 917 M8 8 10

A-DIN 917 M10 10 12

W

| A-DIN 439B-A2 M8 4
| 8
A-DIN 934 M8 6.5
~ A-DIN 934 M10 10 8
raw 1
A-DIN 934 M12 12 10
| A4-DIN 439B M8 8 4
 A4-DIN 934 M10 10 8

A-DIN 562 Mé (& 10 3.2

raw A-DIN 562 M8 8 13 4
A-DIN 562 M10 10 17 =4

A-DIN 1587-A2 Mé& 6 12

| A-DIN 1587-A2 M8 8 15
raw A-DIN 1587-A2 M10 10 18
| A-DIN 1587-A2 M12 12 22
:A-ﬂ-DIM 1587 M10 10 18



' A-PH 5x20 50
A-PH 5x35 35
A-DIN 7505A 5x20 503

A-DIN 7503A 5x35 35

AFTT-M5 5
A-FTT-M6 6
AISI304 BFFTY
A-FTT-M8 8

A-FTT-M10 10

12
14
16,5

n

19

wooD/Me-D

WOoOoD/M10-D

10

AlSI304

AlS1316

N

W

A-DIN 9210 M&x60-A2 6

A-DIN 9210 M8x60-A2 i« &l
A-DIN 9210 M8x100-A2  ~
A-DIN 9210 M10x100-A2 10

A4-DIN 9210 M6x100 6 100
A4-DIN 9210 M8x60 g 80
A4-DIN 9210 M8x100 100

20
42
30

20
42

steea] 8.8

AlSI316

Q5/08-VM250-M10-.

10
Q5/08-VM250-M12-... 12
 A-DIN 975 M6 4]
' A-DINS75SMB 8
_A-DIN 975 M10 10
| A-DIN 975 M12 12
. A4-DIN 975 M10 = 10
' A5/08-VM250-M10-..-A4 10
| A5/08-VM250-M12-..-A4 12

37 -
48
57
v
37 -
48
S e
% :
v

A19/04-PVC...
polizh
PVC

s

 A-DIN 7337-A2 4,8x20

A12/12-PVC A12/12-35-PVC

A19/04-PVC
\A19/04-PVC-L
\A12/12-PVC
\A12/12-35-PVC

A12/12-35-PVC

115



Q5/08-HAZ-M8-805K/S 80 20,5/5 Q11/FPX-M8 g

Q5/08-FH12-50 125 22/5 8 Q11/FPX-M10 10

raw  AS/08-HAZ-MB-80SK/A4 g0 20.5/5

%

AlS1304 AS/08-105x11xM8 m Q5/08-TNTRO8-8x52

AlSI316 A14/08-105x11xM8

Q5/08-FAZ-IG-M10-70/5 Q5/09-Quick-Fix QF35
raw  AS5/08-FAZ-IG-M10-70/A4

116



cteel 5.8 Q5/08-B5-5-10-80/5

Alsi31e AS5/08-B5-5-10-90/A4

raw

A19/27-M8
A19/27-M10
A19/27-M12

QS5/06-8x100CE 8 92
Q5/06-10x120CE 10 120
QS5/08-FEN12-30 12 126
QS5/06-16x123CE 16 123
Q5/06-16x138CE 16 138
AlSI304 A-Q5/086-10x120CE | 10 120

Q5/07-8 NYLON g8 254 40

gray | Q5/07-10 NYLON 10 36 30
Q5/07-12 NYLON 12 48 60

AlSI318

Q5/08-FH15/25 5

Q5/08-HAZ-M8-8535/5 8

Q3/08-HAZ-M10-1065/5

AS/08-HAZ-MB-855/A4 8

AS/O8-HAZ-M10-1065/A4 10

10 -

Q5/08-VHG-ME-100/5
Q5/08-VI-HG-M10-80/S
Q5/08-VHG-M12-125/5
AS/08-VIHG-M8-100/A4
| AS5/08-VI-IG-M10-80/A4

AS5/08-VI-IG-M12-125/A4

8 11
140 15
10 13
12 130 15 25
85 12 20/7.,5
89
15 25/9.,5
106
85 12 20/7.,5
106 15 25/9.5
8 100 12
10 80 16
12 325 20
8 100 12
10 80 16
12 125 20

117



117

| Qualty Finizh art.

 =zatin  AB/2XMB-T7x40

P ey
]
7
A _L\h
1 10O
@ L
1414 =
Y
= =i
Quality Finizh art.

 glass mount |
TS ve/cLassor gassmoint

new
: .- — .- - - — 'J. i
- ALSOOO4 .
Aiaclil A/40580-PLASTIC 42,4 40 QEELEY A/40580-PLASTICV2 AL/0004-6co.
AL/OCO4-PRO.

118



FIX series

FLEX series

1
art. |

AL/glass-mont-PRO [ew

Quality Finizh art.

‘FE'I-'.E gray MP/excenter-mount Aew

3rt. total langth axt. square

AL/GLASS-HOLDER 1-70mm Q8/70-275-PRO  2735mm 1/47

o
9

119



-l H |

[ .

Al

~ Q10/Therm-M12/M12 1212
Q10/Therm-min-M10/MB 108

PVC black A19/05-100 /

PVC  black MP/waterlevel e

120



.1.a|.!"|l_..llrll.f..l.

Smm
"h-

+

Mnew

Q10/ANGLE-0-3-60

natural

P

LS T
i
"

|

10

D 60

i

MW

Q10/60-M16/M10

natural

@D

D 8é
@100

|_-
—T}

360

m natural Q10/ANGLE-0-2-100

121



122

Q5/01GF-300 Nordic

: -20°C +10°C
Q5/01GF-400 Nordic . .
Q5/01GF-300 4 W
Q5/01GF-400

&l

e

Bl

=

g

; Ld

Q5/05TR-310 Silicone -5°C +40°C
Q5/03-300 300ml, hobby

'Q5/01B-300

-10°C +40°C |

Q5/01B-400 vinylester -10°C +40°C neu
Q5/01B-400 Winter -20°C +20°C
S WURTH
1
. uretan 2 o '
Q5/01-WIT-UH300... 320 vinylester -5°C +40°C |
QS/01-WIT-VYM250... 300 vinylester -10°C +40°C

Q5/03-400

400ml, profi

'Q5/01GFP-300
'Q5/01GFP-400

Qs5/04
1Q5/04-250

Q5/01-16x130

Polyester

-5°C +30°C

Q5/04-250

—F'

17 215

8

250 | AW

mesh



- = I - =k ] - .
| o8 L. A ST IR LIT = | L i L | = |l |
1 - 1

!us;nz blow pump Q9/03-3x12 3 12 165 ' Q9/03-0,2x9 02 9 50

1Q9/03-0,5x9 05 9 33

| |
|Q9/03-2x6 2 & 16,5 el

| ’ I I 1
da riekiom -t compatibilik

' Q1/BO2-INOX 345 Pipe cutling Q1/BO2-INOX-RK Q1/BO2-INOX

[
=

raw  A19/model741-8

123



5.5 5 4
7.3 6,4

1 8.2
13 w08 |
15 12,8 |

L LTS TR P T . R
aBiRtialow
e}
|.|J
e

Mhew Mnew

AaArt. description | = | | desc -'i:':r'i'il'_‘..":
- A14/LP-7,0x4.5/1.5

Q8/LP-Tx4.5 riveting punch ‘ Q8/LP-7x4.5-B riveting punch

f

- "B P | =, 3
'I_J-T..':.ll:-'."-\.l' At vl |:.‘::._:]-I':|I =yt

A-DRILL-M5 5 £ | A/FDRILL-MSC

A/FDRILL-MEC

HSS-CO5 A-DRILL-M8 6 48 HSSE  /FDRILL-MBC

A-DRILL-M8 8 6.4 A/FDRILL-M10C 10

o om i

Raznj kotud
Culling diag

=

TR
ma g BN B

. [art granularity
. i < el I ks Fowlid ALY
art. description

= | 'Q1/Go1 360
o4 Q1/L01-125-40 flap disc [

| ; g

e |:;:= descriplion
i

|

Q |ﬂ1fHH01-1251:1 cutting disc

Q1/L01-125-80 flap disc
Q1/L01-125-120 flap disc




by
—— | Ly
[E——— s Eolling dein
= .o W™
:H- : v
Q/INOX-INSTALL-SET Q/INOX-INSTALL-SET-B AW
! '
Q/INOX-INSTALL-SET 1x - - 1x 1x 1 1 1x
1 X X
Q/INOX-INSTALL-SET-B - 1x 1% 2x 2% 2
A/Glue-10g-C 10 0.2 INOX A/Glue-20g 20 0.2 agu%gﬁggf A/GLUE-50g-C 0,2 INOX
. et e Pt ED
A/GLUE-50g-D 0,4 INOX

41

:
2

new new MW

'ﬂﬁf 03-MAMUT 290 instant fix | GS5/Cleaner-Glass 200 EGS /Cleaner-Metal 200
-y |
2
| '
| B 1
| 1
A/ACTIVATOR ~ CA/ACTIVATOR  CA/LAK
. A = dEZCTIET i . =l n OEZCTIRDTION . . It geE=cription -I*
A/ACTIVATOR-509 50  for A/Glue.. ‘w A/spray-WS 400 INOX 104 A/Cleaner-500ml 500 INOX ol
CA/ACTIVATOR corten effect | J€W/ =
| - 1000 .
CA/LAK lacquer for corten | AW

125



126

PNL/G04-28x15-BOX

new PNL/G04-28x15 2t

REK-CASE-ALU

kat-Forged-2023/24

FRAMELESS GLASS
RAILINGSS

|
L4
©
e
AN
i
i
=
L4
©

KAT-GLASS RAILINGS-2023/24

REK-CASE-INOX3

GATE ACCESSORIES

kat-Gates-2023/24

POST RAILINGS

KAT-POST RAILINGS-2022/23

PNL/GO3-30x42

GS/SAMPLE...

GATE AUTOMATION
SYSTEMS

kat-Automations-2023/24

GLASS SYSTEMS

KAT-GLASS SYSTEMS-2023/24



WA W
% + \

+
\

L]
N

. A _\ﬁ \ "‘,_f

AN \‘h\ﬁh‘i\‘ix &

| |y "‘t‘i‘

",
-




'I-"'"

Tr9
.I'.'Iul i

128

AISIZ04

o

AlS1304

AlSl3i6

AlSI304 AlSI304 AlISI316*
" only rrr.lrrur firizh Ipﬁn'ishad!
i — ol i
| I — malu -_
nerezova stal rozsdamentes sfainless
ocel nierdzewna acel steel Edelsiam] INOX
[
corten ocel cortenstal | corten acél corten sieel Cortenstanl carten
hilinik [ aluminium aluminium aluminium Aluminium aluminium
zliatina stop cynku i | Zn+Al = . aliiage
Zn+Al Al | Gtvizet FAMRG:  |oiokdrckauss ] el
zelezo Zelazo vas iron Eisen fer
-2 Zinok cynk cink Zinc Zink Zing
1
E mosadz miedz sargaréz brass Messing laiton
PVC polyvinyl chioride
polyethylene terephthalate glycol
guma quma gumi rubber Gummi gomme
buk buk bikk beech Buche hétre
dub dab tilgy oak Eiche chéne
smrek swierk | lucfenyd spruce Fichte gpicéa
sklo sZkio uveq glass Glas Verre
brus szlif | szalcsiszolt | brushed geschliffen brossé
K320 K320 K320 K320 K320 K320
strieborny srebro ezlst silver Silber argent
' tiikar : : .
E . lesk polerowany polirozott polished poliert poli
E".’, SUMOVY SUTOWY nyers raw roh brosse
W
E [
= nebriseny neszlifovany natur rough ungeschliffen non-brosse
nerez nierdzewny rozsdamentes Inox Edelstahl inox
ELOX eloxovany anodowany | eloxalt elox Eloxiert anodise
@ potrebné niezbedne | szlkséges necessary | Anpassungist | modification
upravy | przystosowanie mc':dnsités  modification notwendig néacessaire
4 nezmontované nieziozone | not unmontiert PR
it | osszeszereit | assembled assemblé
~ priblizny prz;-.fhli_inne lI-LDZEII'[ & vikraici appmxirr_'late :&ﬁ ;abnmsm dime_nsim_m
rozmer wymiary I dimension | Ungemhr approximatives
4 bestseller bestseller | legjobban best seller Bestseller best-seller
. eladott
novinka NowWosc | Uj new Meuheit nouveau
RAL color
PVD = (physical vapor deposition) coafing

PWD-L = polished surface finish

LED

ey

AlSI304

AlsI316

INOX AISI 304

- vhodny do prostredia bez chldru a oxidu siri¢itého

INOX AlSI 316

- vhodny do prostredia s vysokym obsahom chloru, oxidu sirigitého,
vysokej vihkosti, do primorskych regionov

INOX 5.5. 2205 vhodny do prostredia s vysokym obsahom chldru,

oxidu siriéitého, vyscokej vihkosti s pritomnostou soli na pobreZi a na
volnom mori.

z INOX AlSI 304

- suitable for the environment without chlorine and sulphur dioxide
load

INOX AISI 316

- suitable for the environment with a high content of chlorine, sulphur
dioxide load, high humidity, coastal regions

INOX 5.5, 2205

- Suitable for environments with a high content of chlorine, sulfur
dioxide, high humidity with salt on the coast and on the high seas.

INOX AISI 304

- przeznaczone dla srodowiska bez dwutlenku siarki oraz chloru
INOX AISI 316

- przeznaczone dla srodowiska o wysokiej zawartosci dwutlenku siarki
oraz chloru, wysokiej wilgotnosé oraz w regionach nadmorskie

INOX 5.5, 2205

- Nadaje sie do srodowisk o wysokiej zawartosci chloru, dwutlenku
siarki, o iej wilgotnosci, o duzym zasoleniu, w strefach nadmor-
skich, lub w bezposrednim kontakcie z woda morska.

INOX AlSI 304

- alkalmazhato olyan kimyezetben, ahol nincs klor és ken-dioxid
terhelés

INOX AlSI 316

- alkalmazhato olyan kérmyezetben, ahol magas a klor-, vagy ken-
dioxid terhelés, magas a paratartalom, tengerparti regiokban
INOX 5.5. 2205

- Alkalmazhato magas kior-, ken-dioxid-, s0s nedvessegtartalmu
kimyezetben, valamint tengerparton és a nyilt tengeren”.

INOX AISI 304

- geeignet in Umgebung ohne Chlor und Schwefeldioxid

INOX AISI 316

- geeignet in Umgebung mit einem hohen Gehalt an Chlor, Schwefel-
dioxid oder in Umgebung mit hoher Luftfeuchtigkeit, in Kistenregi-
onen

INOX 5.5. 2205

- geeignet fir Umgebungen mit hohem Gehalt an Chior, Schwefeldi-
oxid und hoher Luftfeuchtigkeit mit Salz an der Kiiste und auf hoher
Sea

INOX AlSI 304

- Convenable pour les environnements sans chlore et/ ou bioxyde
de soufre

INCX AlISI 316

- Convenable pour les environnements avec un contenu éleve de
chlore etf ou de bioxyde de soufre, une grande humidité, régions
maritimes

INOX 8.5, 2205

- Convenable au milieu avec un contenu élevé du dioxyde de soufre,

ainsi qu'au milieu humide contentant du sel, tel gue le bord de mer ou
la mer ouverte.

Gamin

INFRAPROMET 5.0

'.--
TESTIMNG |

by

@ pravo na technicke, tvarove a rozmerove zmeny vyhradene/ rights to technical, shape and dimensional changes reserved



